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1)
The principle of working from Whole to part is used in surveying
because:
{1} Plotting becomes easy
(2} Survey work can be completed quickly
@D Accumulation of errors is prevented
{4) All the above
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[Question ID = 176][Question Description = Q01_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 701]
2. (2) [Option ID = 702]
3. (3) [Option ID = 703]
4. (4) [Option ID = 704]

Correct Answer :-
e (3) [Option ID = 703]

Geodetic Surveying is different from the plane table surveying
because of :
@ Curvature of the earth
(2) Large difference of elevation between various points
(3) Coverage of very large area
(4) Undulation of the topography

H-danide a0l teid cdd aavr d @ §1 S8d RO b
@ = F amar

(2) Tafdes Tagat & drg Fai @1 921 3R

(3) TG A &AW Halel

(4) rarEmhi # SaR-usE

[Question ID = 177][Question Description = Q02_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 705]
2. (2) [Option ID = 706]
3. (3) [Option ID = 707]
4. (4) [Option ID = 708]



Correct Answer :-
e (1) [Option ID = 705]

The sensitivity of a bubble tube of a levelling instrument can be
increased by :
@ Increasing the diameter of the tube
(2) Decreasing the length of bubble
(3) Increasing the viscosity of liquid
(4) Decreasing the radius of curvature of tube
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[Question ID = 178][Question Description = Q03_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 709]
2. (2) [Option ID = 710]
3. (3) [Option ID = 711]
4. (4) [Option ID = 712]

Correct Answer :-
e (1) [Option ID = 709]

Curves are provided in Railway system to :

(1) By-pass the obstacles

(2) Provide the sasier gradients

(3) Pass the Raillway line through obligatory points

@R Al of the above
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[Question ID = 179][Question Description = Q04_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 713]
2. (2) [Option ID = 714]
3. (3) [Option ID = 715]
4. (4) [Option ID = 716]

Correct Answer :-
e (4) [Option ID = 716]



) A circular curve is generally set-out by the method of :

(1) Tangential offset method
(2) Chord deflection method
(3) Theodolite method

@ All of the above
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[Question ID = 180][Question Description = Q05_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 717]
2. (2) [Option ID = 718]
3. (3) [Option ID = 719]
4. (4) [Option ID = 720]

Correct Answer :-
® (4) [Option ID = 720]

Unit of strain is :

(1) mm per Kg

(2) mm per Newton
(3) m per Degree

@ No unit
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[Question ID = 181][Question Description = Q06_AEN_PA_NAIRJUNE23]
. (1) [Option ID = 721]
. (2) [Option ID = 722]
. (3) [Option ID = 723]
. (4) [Option ID = 724]
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Correct Answer :-
® (4) [Option ID = 724]



7)
If the depth of actual neutral axis in a RCC beam is more than the depth
of critical neutral axis, then the beam is called :
(1) Balanced beam
(2) Under-reinforced beam

‘ Over-reinforced beam
{(4) None of the above
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[Question ID = 182][Question Description = Q07_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 725]
2. (2) [Option ID = 726]
3. (3) [Option ID = 727]
4. (4) [Option ID = 728]

Correct Answer :-

& (3) [Option ID = 727]

The main reason for providing number of reinforcing bars at the support
in a simply supported beam is to resist in that zone.

(1) Compressive siress
2) Shear stress

Bond stress
(4) Tensile siress
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[Question ID = 183][Question Description = Q08_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 729]
2. (2) [Option ID = 730]
3. (3) [Option ID = 731]
4. (4) [Option ID = 732]

Correct Answer :-
e (3) [Option ID = 731]



9)

When the axis of load lies in the plane of rivet group, then the rivets are
subjected to :
. Only shear stresses
(2) Only tensile stresses
(3) Beth (1) and (2)
(4) None of the above
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[Question ID = 184][Question Description = Q09_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 733]
2. (2) [Option ID = 734]
3. (3) [Option ID = 735]
4. (4) [Option ID = 736]

Correct Answer :-
e (1) [Option ID = 733]

10)
10 kN/m
PRSP R REy
3 m L. 3 m
i
A B

In above figure, what are the values of reactions at two supports i.e. RA
and RB 7?7
(1) RA=15 KN RB= 15 KN
@ RA=225KN RB=7.5KN
(3) RA=7.5KN RB=22.5 KN
(4) None of the above
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[Question ID = 185][Question Description = Q10_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 737]
2. (2) [Option ID = 738]



3. (3) [Option ID = 739]
4. (4) [Option ID = 740]

Correct Answer :-
® (2) [Option ID = 738]
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In the above figure, what is the value of Bending Moment at the centre
of span ?
@ 225KN-m
(2) 45.0 KN-m
(3) 675 KN-m
(4) None of the above
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[Question ID = 186][Question Description = Q11_AEN_PA_NAIRJUNE23]

1. (1) [Option ID = 741]
2. (2) [Option ID = 742]
3. (3) [Option ID = 743]
4. (4) [Option ID = 744]

Correct Answer :-
e (1) [Option ID = 741]

Ultimate strength of cold drawn high strength steel wires:
(1) Increases with increase in diameter of bar
@B Decreases with increase in diameter of bar
(3) Does not depend on diameter of bar
{4} MNone of the above
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[Question ID = 187][Question Description = Q12_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 745]
2. (2) [Option ID = 746]
3. (3) [Option ID = 747]
4. (4) [Option ID = 748]

Correct Answer :-



® (2) [Option ID = 746]

The property of fresh concrete, in which the water in the mix tends to
rise to the surface, while placing and compacting, is called -
(1) Segregation
@ Bleeding
(3) Bulking
(4) Creeping
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[Question ID = 188][Question Description = Q13_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 749]
2. (2) [Option ID = 750]
3. (3) [Option ID = 751]
4. (4) [Option ID = 752]

Correct Answer :-
® (2) [Option ID = 750]

Finer grinding of cement affects :
@ Only the early development of sirength
(2) Only the ultimate strength
(3) Both (1) and (2)
(4) Does not affect the strength
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[Question ID = 189][Question Description = Q14_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 753]
2. (2) [Option ID = 754]
3. (3) [Option ID = 755]
4. (4) [Option ID = 756]

Correct Answer :-
e (1) [Option ID = 753]



15)
A plate load test is used to determine which of these:
(1) Bearing capacity of foundation
(2) Settlement of foundation
@» Both (1) and (2)
(4) None of the above
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[Question ID = 190][Question Description = Q15_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 757]
2. (2) [Option ID = 758]
3. (3) [Option ID = 759]
4. (4) [Option ID = 760]

Correct Answer :-
e (3) [Option ID = 759]

The contact pressure of rigid footing on cohesive saoils is -
{1) More in the centre than at the edges
Less in the centre than at the edges
(3) Uniform throughout
{4} None of these
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[Question ID = 191][Question Description = Q16_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 761]
2. (2) [Option ID = 762]
3. (3) [Option ID = 763]
4. (4) [Option ID = 764]

Correct Answer :-
® (2) [Option ID = 762]



17)
Hydraulic depth of an open channel is the ratio of -

(1) Wetled area to wetted penmeter
@ \Vetted area to top width

(3) Wetted area to bottom width

(4) Wetted perimeter to top width
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[Question ID = 192][Question Description = Q17_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 765]
2. (2) [Option ID = 766]
3. (3) [Option ID = 767]
4. (4) [Option ID = 768]

Correct Answer :-
® (2) [Option ID = 766]

Pick up the correct statement from the following -

(1) Hydrograph is a plot of discharge and time

{(2) In Hydrographs, time is plotted on X-axis

(3) The maximum flow in the river due to rainfall, is called peak flow
@ Al the above
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[Question ID = 193][Question Description = Q18_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 769]
2. (2) [Option ID = 770]
3. (3) [Option ID = 771]
4. (4) [Option ID = 772]

Correct Answer :-
® (4) [Option ID = 772]



19)
As per Lacey's theory, silt factor is :
(1) Directly proportional to average particle size
(2) Inversely proporfional to average particle size
Directly proportional to square root of average pariicle size
(4) Mot related to particle size
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[Question ID = 194][Question Description = Q19_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 773]
2. (2) [Option ID = 774]
3. (3) [Option ID = 775]
4. (4) [Option ID = 776]

Correct Answer :-

e (3) [Option ID = 775]

For which type of bridge, no vertical clearance is required to be
provided :

@ Box bridge
(2) Pre-stressed slab type bridge

(3) Arch bridge
(4) Open web girder
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[Question ID = 195][Question Description = Q20_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 777]
2. (2) [Option ID = 778]
3. (3) [Option ID = 779]
4. (4) [Option ID = 780]

Correct Answer :-
e (1) [Option ID = 777]



21)
Feasibility Report of a Railway Project is generally based on this:
(1) Hydrographic Survey
Reconnaissance Survey
(3) Preliminary Engineering Survey
(4) Final location survey
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[Question ID = 196][Question Description = Q21_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 781]
2. (2) [Option ID = 782]
3. (3) [Option ID = 783]
4. (4) [Option ID = 784]

Correct Answer :-
® (2) [Option ID = 782]

As per Indian Railways Code for the Engineering Department, what is
CORRECT in relation to the ‘Bench Marks” in Engineernng survey ?
(1) Bench Marks should be left at intervals of not more than one
kilometre along the line and at sites of important bridges

(2) The position chosen for a Bench Mark should not be liable to be

interfered during construction
(3) All bench marks should be so placed and marked as to be easily

identified
@B Al of the above
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[Question ID = 197][Question Description = Q22_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 785]
2. (2) [Option ID = 786]
3. (3) [Option ID = 787]
4. (4) [Option ID = 788]

Correct Answer :-



e (4) [Option ID = 788]

The check rail helps in reducing lateral rail wear on sharp curves by
laying along which rail ?

@ (nner rail

(2) Outer rail
(3) Middle rail
(4) None of the above
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[Question ID = 198][Question Description = Q23_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 789]
2. (2) [Option ID = 790]
3. (3) [Option ID = 791]
4. (4) [Option ID = 792]

Correct Answer :-
e (1) [Option ID = 789]

Heaping of ballast above the level of sleeper improves which
resistance?

@ Laeral
(2) Longitudinal
(3) Resilience
(4) None of the above
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[Question ID = 199][Question Description = Q24_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 793]
2. (2) [Option ID = 794]
3. (3) [Option ID = 795]
4. (4) [Option ID = 796]

Correct Answer :-
e (1) [Option ID = 793]



25)
As per IRPWM 2020, what is the schedule of night foot plate inspection
by ADEN 7
(1) Week
(2) Fortnight
(3) Three Weeks
@ One Month
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[Question ID = 200][Question Description = Q25_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 797]
2. (2) [Option ID = 798]
3. (3) [Option ID = 799]
4. (4) [Option ID = 800]

Correct Answer :-
® (4) [Option ID = 800]

Which Liners are used in track circuited area 7
(1) Any liner

(2) Metal liner

@) GFN liner

(4) None of these
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[Question ID = 201][Question Description = Q26_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 801]
2. (2) [Option ID = 802]
3. (3) [Option ID = 803]
4. (4) [Option ID = 804]

Correct Answer :-



e (3) [Option ID = 803]

Slide Blocks are used in turn-out to :
@ Transfer lateral forces from tongue rail to stock rail
(2) Transfer longitudinal forces from tongue rail to stock rail
(3) These are optional fittings
(4) None of the above
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[Question ID = 202][Question Description = Q27_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 805]
2. (2) [Option ID = 806]
3. (3) [Option ID = 807]
4. (4) [Option ID = 808]

Correct Answer :-
e (1) [Option ID = 805]

In reverse curve, the super elevation provided at the point of reverse
curvature 1s :

@ Zero
(2) Negative
(3) Maximum
(4) Depend on elements of reverse curve
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[Question ID = 203][Question Description = Q28_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 809]
2. (2) [Option ID = 810]
3. (3) [Option ID = 811]
4. (4) [Option ID = 812]

Correct Answer :-
e (1) [Option ID = 809]



29)

Complete realignment of curve of a route with 100 kmph speed will be
planned, if more than 20% stations are having station to station Versine
variations above
(1) 30 mm; or 25% of average Versine on circular portion, whichever is
more

.} 20 mm; or 20% of average Versine on circular portion, whichever is
more
(3) 40 mm;, or 40% of average Versine on circular portion, whichever is
more
(4) None of the above
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[Question ID = 204][Question Description = Q29_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 813]
2. (2) [Option ID = 814]
3. (3) [Option ID = 815]
4. (4) [Option ID = 816]

Correct Answer :-
e (2) [Option ID = 814]



30)
For a route with section speed above 110 kmph, average 1.5 peaks per

km were found during OMS recording. As per IRPWM 2020, this
section will be classified as :

@ Geood

(2) Average
(3) Very Good
(4) Bad
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[Question ID = 205][Question Description = Q30_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 817]
2. (2) [Option ID = 818]
3. (3) [Option ID = 819]
4. (4) [Option ID = 820]

Correct Answer :-
e (1) [Option ID = 817]



31

! As per IRPWM 2020, for new track the tolerances for ‘Gauge’ would be:
(1) For curves of radius 350 m and more, including straight, -5 mm to
+3 mm
(2) For curves of radius less than 350 m, up to +10 mm
(3) For through renewal of track, the same tolerance will be applicable
as new track
‘ All of the above
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[Question ID = 206][Question Description = Q31_AEN_PA_NAIRJUNE23]
. (1) [Option ID = 821]
. (2) [Option ID = 822]
. (3) [Option ID = 823]
. (4) [Option ID = 824]

A W N -

Correct Answer :-
® (4) [Option ID = 824]

As per IRPWM 2020, Sanction of CRS will be required for execution of
works in respect of :
(1) Elimination of manned level crossing
(2) Introduction of Electric Traction
(3) Consiruction, rebuilding and strengthening of minor bridges
‘ Opening of stations, junctions and level crossings
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[Question ID = 207][Question Description = Q32_AEN_PA_NAIRJUNE23]
(1) [Option ID = 825]
(2) [Option ID = 826]
(3) [Option ID = 827]
(4) [Option ID = 828]
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Correct Answer :-
® (4) [Option ID = 828]

As per Indian Railways Schedule of Dimensions for BG, revised in
2022, which of the following dimension is NOT correct :

(1) Minimum distance centre to centre of siraight tracks for new
works/addition to-existing works should be 5300 mm

(2) Minimum radius of curves should be 175 m

(3) Maximum distance between trolley refuges on bridges with main
spans of 100m or more should be 100 m

{4) Minimum width of embankment in single line straight track for new
waorks/alteration to existing works should be 7850mm
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[Question ID = 208][Question Description = Q33_AEN_PA_NAIRJUNE23]

1. (1) [Option ID = 829]

2. (2) [Option ID = 830]

3. (3) [Option ID = 831]

4. (4) [Option ID = 832]

Correct Answer :-

As per IRPWM 2020, which statement is correct in relation to Certificate
of Competency issued to the staff ?

(1) He should be literate

(2) He should have knowledge of Hindi or other local langusage

(3) He should have passed the prescribed Medical test

(4) All of the above

31 3T o0, UA. 2020 JHJAR, DATMNET I S FHT 70 Jragdr
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(4) U FalT
[Question ID = 209][Question Description = Q34_AEN_PA_NAIRJUNE23]
(1) [Option ID = 833]
(2) [Option ID = 834]

(3) [Option ID = 835]
(4) [Option ID = 836]

A WN -



Correct Answer :-

Fish Plates used to join two rails of different sections are called :
(1) Joggled Fish plate
Combination Fish Plate
(3) Ordinary Fish Plate
(4) None of the above

FHETT-3eTT TR 7 &7 Lot @l Fisa o T SEHAT o7 = il
fimer cole agenndl & -

(1) SioTes R wie

(2) daea R e
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[Question ID = 210][Question Description = Q35_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 837]
@ () [Option ID = 838]
3. (3) [Option ID = 839]
4. (4) [Option ID = 840]

Correct Answer :-
® (2) [Option ID = 838]

XEN and AXEN/TM/line shall perform the duty/duties :
(1) Inspection and maintenance of all track machines
(2) Breakdown repairs of track machines

(3) Ensure achievement of stipulated targets
@ All of the above

TFHITA. HY TUaH.i A/ AUH] TSA A FdcdiFIcAl FT UTeled
FOA

(1) wsh & mofiat &1 deor st Tawae
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[Question ID = 211][Question Description = Q36_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 841]
2. (2) [Option ID = 842]
3. (3) [Option ID = 843]
4. (4) [Option ID = 844]

Correct Answer :-
® (4) [Option ID = 844]



37) The justification for track works shall be prepared on the basis of

factually correct data and submitted through :
@ rRPsSM

(2) T™MS

(3) WhatsApp

(4) Speed Post

¢ il & R B gaeT ®U @ g9 3HiEET H YR ] JIN
o T & Heud Y uEdd o S

@ s
(2) Eruaug.

(3) TEicHEd
(4) ¥ OFEE

[Question ID = 212][Question Description = Q37_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 845]
2. (2) [Option ID = 846]
3. (3) [Option ID = 847]
4. (4) [Option ID = 848]

Correct Answer :-
e (1) [Option ID = 845]

As per IRPWM 2020, which statement about track renewal is correct ;
(1) Scattered Renewal is replacement of unserviceable rails, sleepers
and fastenings by identical serviceable matenal of nearly the same
vintage.
(2) Casual Renewal is replacement of unserviceable rails, sleepers
and fastenings by identical serviceable material of nearly same vintage
ar new componenis
{3) Complete Track Renewal (Primary) is replacement of
unserviceable rails, sleepers and fittings by new material.

@ Al of the above

IS IR See WA, 2020 & IHGAR, ¢ AT o @y 3 Hiel @1
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[Question ID = 213][Question Description = Q38_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 849]
2. (2) [Option ID = 850]
3. (3) [Option ID = 851]
4. (4) [Option ID = 852]

Correct Answer :-



e (4) [Option ID = 852]

Primary renewals of track are those where -
(1) Renewals are done with available materials to ensure track
geometry
Q Only new materials are used in renewals
(3) Renewals are done with released serviceable materials
(4) None of the above

¢ep o rATAS FdIeoT dl gl § oiel :

(1) 6 sEfElS gEfEE e & e suosy G @
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[Question ID = 214][Question Description = Q39_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 853]
2. (2) [Option ID = 854]
3. (3) [Option ID = 855]
4. (4) [Option ID = 856]

Correct Answer :-
® (2) [Option ID = 854]

Renewal of switch in a turnout shall be planned under following
conditions :

(1) Chipped or worn out tongue rail

(2) Tongue rail is badly twisted or bent and does not house properly
against the stock rail causing a gap of 5 mm or more at the toe

(3) Loss of section of stock rail 6% for 52 kg and 7% for 60 kg

@) Anyone ofthe above

AT oaat & dgd &1 H3e H Fag & Adiereor 6
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[Question ID = 215][Question Description = Q40_AEN_PA_NAIRJUNE23]



(1) [Option ID = 857]
(2) [Option ID = 858]
(3) [Option ID = 859]
(4) [Option ID = 860]

A W N -

Correct Answer :-
e (4) [Option ID = 860]

When engine is pushing a train and the guard is traveling in leading
brake van, the speed shall not exceed kmph.

When the guard Is not traveling in leading vehicle, the speed shall not
exceed kmph.

(1) 15 and 10 respectively

(2) 25 and 8 respectively

(3) 40 and 25 respectively

(4) MNone of the above

S Eoie U ol ol gl ¢ 6T o 3T S 3ol 99 dF & @

T e, dl afd forall ufa ge @ 379 ag gefr 3k ="
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(1) 15 3R 10 W
2) 25 3R 8 P
(3) 40 3R 25 AU

4) 00w F & P G

[Question ID = 216][Question Description = Q41_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 861]
2. (2) [Option ID = 862]
3. (3) [Option ID = 863]
4. (4) [Option ID = 864]

Correct Answer :-



2 As per IRPWM 2020, in case ‘stop dead’ restriction is imposed, Stop

Indicator should be located at this distance before the location of the
Line under repair :
(1) 50m
(2) 20m
30m
(4) 60m

HTE ARAL3eeg.0A. 2020 ¥F 3TER, 'TSI9 3T ufeEe ST g f
Feufa A, Ferg $fEdeT oga 6 ATFAT & TIH ¥ Uge 39 g0 W

T g ofgo
(1) 50 #
(2) 20 #
My 30
(4) 60 #r

[Question ID = 217][Question Description = Q42_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 865]
2. (2) [Option ID = 866]
3. (3) [Option ID = 867]
4. (4) [Option ID = 868]

Correct Answer :-
e (3) [Option ID = 867]

As per IRPWM 2020, overhauling of Level crossings laid with PSC
sleepers shall be done:

(1) With each cycle of machine packing

(2) More frequent as warranted by condition

(3) Atleast once intwo years

@) Allthe above

W AN R IeFY A, 2020 F HeraR, Frow . Foad & |5y o
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[Question ID = 218][Question Description = Q43_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 869]
2. (2) [Option ID = 870]
3. (3) [Option ID = 871]
4. (4) [Option ID = 872]

Correct Answer :-
® (4) [Option ID = 872]

As per IRPWM 2020, as soon as Trolley/ Motor trolley/ Lary is
removed from the track and placed clear of it -

‘ The red flag or light signal shall be removed
(2) The red flag or light signal shall not be removed
(3) Thered flag will be replaced with green flag
(4) None of the above

IMENRAZEY.TA, 2020 & IR, 9 & Siefi/Arex gieit/am &t
P ¥ ol 3OY oF T ST & -
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[Question ID = 219][Question Description = Q44_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 873]
2. (2) [Option ID = 874]
3. (3) [Option ID = 875]
4. (4) [Option ID = 876]

Correct Answer :-
e (1) [Option ID = 873]

As per IRPWM 2020, each vehicle of material train must be provided
with which Brake irrespective of any other brake ?
(1) WVacuum Brake
(2) Air Brake
Hand Brake capable of being fastened down
(4) There is no such requirement

IS I MEeeg WA, 2020 & T8N, AR ¢ b Ucdeh aigel A
FiT AT &I T Tl TIMET, Jo & e 3T db &=41 o o9 of ?
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[Question ID = 220][Question Description = Q45_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 877]
2. (2) [Option ID = 878]
3. (3) [Option ID = 879]

4. (4) [Option ID = 880]

Correct Answer :-



e (3) [Option ID = 879]

If an Engineering official is the first to reach accident site, as per
IRPWM 2020, he shall repert the accident through the quickest possible
means to -
(1) The Principal Chief Engineer

@ The nearest Station Master
(3) The General Manager
(4) His immediate family members

IS HLUTZeeg.UH. 2020 & AN, TG TH Soliaaider A
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[Question ID = 221][Question Description = Q46_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 881]
2. (2) [Option ID = 882]
3. (3) [Option ID = 883]
4. (4) [Option ID = 884]

Correct Answer :-
® (2) [Option ID = 882]

As per IRPWM 2020, when no danger is apprehended, the stationary
bridge watchman should stand on which side of the train facing it and
exhibit his number plate ?

(1) Leftside

(2) Right side

(3) Left or Right side

(4) He will not do anything as there Is no danger

IS 3 560y UH. 2020 IR, 579 Fovel Wal 61 3eier & g, al

fearEl Oy ?
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[Question ID = 222][Question Description = Q47_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 885]
2. (2) [Option ID = 886]
3. (3) [Option ID = 887]
4. (4) [Option ID = 888]

Correct Answer :-



48)
What is CORRECT about duties of ADEN in relation to inspection of
Stores of SSE/P.Way (In-charge)
(1) He shall inspect Stores of all SSE/P.Way (In-charge) at least once
a year
(2) He should pay special attention to availability and proper
distribution of Imprest materials
(3) He should see Engineering indicators, protection equipment in
stores

@ Al of the above

e/ WA (3ue) F R & Hieor F geg J vHiva &
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[Question ID = 223][Question Description = Q48_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 889]
2. (2) [Option ID = 890]
3. (3) [Option ID = 891]
4. (4) [Option ID = 892]

Correct Answer :-
® (4) [Option ID = 892]



49)
When replacing an Elastomeric Bearing of any bridge, all the bearings
in one line of support in which direction of the traffic should be replaced
so as to maintain the same stiffness?
Parallel

(1)
@ 1ansverse

{(3) Both (1) & (2)
(4) None of the above

uey geerdia AT @ aged GHY, Ua |z & Juic arel JT
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[Question ID = 224][Question Description = Q49_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 893]
2. (2) [Option ID = 894]
3. (3) [Option ID = 895]
4. (4) [Option ID = 896]

Correct Answer :-
® (2) [Option ID = 894]

In bridges, Drop & Curtain wall are provided at what locations?

(1) Upstream and Downstream of the bridge respectively
Downstream and Upstream of the bridge respectively

(3) Both on Upstream

(4) Both on Downstream

udt @, 3 3K Fce aie fhd TuE! ot ugeE @ o 87
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[Question ID = 225][Question Description = Q50_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 897]
2. (2) [Option ID = 898]
3. (3) [Option ID = 899]
4. (4) [Option ID = 900]

Correct Answer :-
e (2) [Option ID = 898]



51
) In maintenance of Sliding and Roller & Rocker bearing of bridge -

@ These are generally cleaned and greased once in 3 years
(2) These are generally cleaned and greased once in 1 years
(3) These are generally cleaned and greased once n 2 years
(4) These are generally cleaned and greased once In 5 years
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[Question ID = 226][Question Description = Q51_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 901]
2. (2) [Option ID = 902]
3. (3) [Option ID = 903]
4. (4) [Option ID = 904]

Correct Answer :-
e (1) [Option ID = 901]

Loss of Camber in steel girders may be attributed due to this :
(1) Owver stressing of members beyond elastic limit
{(2) Over stressing of joint nvets
(3) Loose nvets
@ Al of the above

et 38 & Srex b @i v A ST har §
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[Question ID = 227][Question Description = Q52_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 905]
2. (2) [Option ID = 906]
3. (3) [Option ID = 907]

4. (4) [Option ID = 908]

Correct Answer :-
® (4) [Option ID = 908]



53)
As per IRBM, what is CORRECT about vulnerable cuttings :

(1) Divisional Engineer/Sr. Divisional Engineer should identify the
vuinerable cuttings at least once in every three years

(2) Stationary watchmen should be posted round the clock at
vulnerable cuttings

(3) Frequent inspection of vulnerable cuttings may be carried out as
per past history

(4) All the above

HTE. AR A TH. & HAUR, Toleriasl Ffedd & a0 H 4T Tel ¢ :
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[Question ID = 228][Question Description = Q53_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 909]
2. (2) [Option ID = 910]
3. (3) [Option ID = 911]
4. (4) [Option ID = 912]

Correct Answer :-



54)
As per IRBM, what is CORRECT about camber in pre-stressed

concrete girders:
(1) The camber should be checked by BRI within one year of
installation
(2) The camber should be checked by BRI once in five years after
initial checking
(3) The temperature should also be recorded so that successive
readings are taken at about the same temperature.

0 All the above

HE A TH F IR, B-12Ts Fhe T & Fraw § a H =4
Ter ¥
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1[Q(u1?s,[go: IDI D= 2921‘;}[Question Description = Q54_AEN_PA_NAIRJUNE23]

2. (2) [Option ID = 914]

3. (3) [Option ID = 915]
4. (4) [Option ID = 916]

Correct Answer :-
® (4) [Option ID = 916]



33) As per IRBM, what is CORRECT about tunnel ventilation:

(1) Itimproves the comfort level of passengers, crew and workers in

the tunnel

(2) It prevents the rise of temperature inside the tunnel

(3) It prevents concentration of hazardous gases inside the tunnel
All of the above
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[Question ID = 230][Question Description = Q55_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 917]
2. (2) [Option ID = 918]
3. (3) [Option ID = 919]
4. (4) [Option ID = 920]

Correct Answer :-
® (4) [Option ID = 920]

The Section Engineer (Works) should send a retum on buildings lying
vacant at the end of every month to -
(1) Assistant Divisional Engineer
(2) Sr. DPO
@ Divisional Engineer/Sr. Divisional Engineer
(4) Sr. DFM

TR SolfaaY (@a=Y) @ & Aeler & 3id & @rell us Ha=l $r
Taerofl s el e -
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[Question ID = 231][Question Description = Q56_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 921]
2. (2) [Option ID = 922]
3. (3) [Option ID = 923]

4. (4) [Option ID = 924]

Correct Answer :-
® (3) [Option ID = 923]



57)
Building registers contains following details:
@ Up-to-date and complete details of each structure
(2) Details of occupants of the Buildings
(3) Land details of the Buildings
(4) Estimate details of construction

fafesT ey & FeaaEa fawrae &
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[Question ID = 232][Question Description = Q57_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 925]
2. (2) [Option ID = 926]
3. (3) [Option ID = 927]
4. (4) [Option ID = 928]

Correct Answer :-
e (1) [Option ID = 925]

As per IRWM-2000, for prevention of roof leakage, the inspection of
roof should cover the aspecis as :
(1) Availability of minimum 1 in 100 slope
(2) Provision of 75mm fillet at the junction of roof and parapet walls
(3) Undulations in roof surface

. All of the above

3778 I Zec . UA.-2000 % AR, & & R H1 Aepel & o, & &
@dieTor & fes=tai@a ueesl =i c@al amve -

(1) =U=aH 100 H 1 el & SUeesd

(2) ©d 3 AT i GOt & SR W 75 el Thele @ g
(3) ©d # Hag # OIE W M6

@ i@ ar

[Question ID = 233][Question Description = Q58_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 929]
2. (2) [Option ID = 930]
3. (3) [Option ID = 931]
4. (4) [Option ID = 932]

Correct Answer :-
® (4) [Option ID = 932]



59
) As per IRWM-2000, Standard Measurement Register may be utilised
for :
(1) Measurement of all types of works
(2) Measurement of periodical execution of items of maintenance
(3) Measurement of plastered surfaces
(4) None of above
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[Question ID = 234][Question Description = Q59_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 933]
2. (2) [Option ID = 934]
3. (3) [Option ID = 935]
4. (4) [Option ID = 936]

Correct Answer :-
As per IRWM-2000, what is correct regarding dismantling of structure?
(1) At major dismantling sites, the minimum level of supervision shall
be Senior Section Engineer (In-charge)
(2) The dismantling plan should invariably show various stages of
dismantling
(3) Proper barricading should be done to stop access of unauthorised
personnel near the dismantling area

@ Al of the above
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[Question ID = 235][Question Description = Q60_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 937]
2. (2) [Option ID = 938]
3. (3) [Option ID = 939]
4. (4) [Option ID = 940]

Correct Answer :-
e (4) [Option ID = 940]



61
) As per IRWM-2000, thumb rule for ‘Repair and Seismic strengthening

of building’ is 'If the cosi of repairs or seismic retrofitting is less than this
percent of the rebuilding cost, only then the repair/retrofitting is
adopted’.
(1) 25%
(2) 40%

@ 50%
(4) 60%

IS R BECYUH.-2000 F HeJHN, ‘Hefel H AWAA IR FHT
Aol & oe g7 w1 € B of meaa @ aed s $ir

AT GATATT 9T & 6 Ui § A &, Al § A AGeiEn
DI HUSTAT SAar
(1) 25%
(2) 40%
. 50%
(4) 60%

[Question ID = 236][Question Description = Q61_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 941]
2. (2) [Option ID = 942]
3. (3) [Option ID = 943]
4. (4) [Option ID = 944]

Correct Answer :-
e (3) [Option ID = 943]

As per IRWM-2000, Reinforcing steel should be provided in masonry in
critical sections, which will increase -
(1) Strength
(2) Stability
(3} Ductility
@ Al of the above
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[Question ID = 237][Question Description = Q62_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 945]
2. (2) [Option ID = 946]
3. (3) [Option ID = 947]
4. (4) [Option ID = 948]

Correct Answer :-
® (4) [Option ID = 948]



63)
Where water-borne sewerage 1s not possible, this system of disposal of

sewage is normally adopted -
@ Sepiiciank
(2) Disposing in open drain
(3) Disposing in any low lying area
(4) All of the above
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[Question ID = 238][Question Description = Q63_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 949]
2. (2) [Option ID = 950]
3. (3) [Option ID = 951]
4. (4) [Option ID = 952]

Correct Answer :-

e (1) [Option ID = 949]

As per IRWM-2000, the amount of minimum residual chlorine at the
farthest end shall be available in public water supply for safety against
disease producing organisms:

@® 0.2 mg per litre
(2) 0.6 mg per litre

(3) 0.8 mg per litre
(4) 1.01to0 5.0 ppm

TS A5, TA.-2000 & HTHI, W YT FTeT ATor Sal & FI&T &
fore ardfore oo smafd F 999 g F O W FgAaA Harree
FoAIlleT HT ATAT 3UTeer g

T 0.2 P ufr et

(2) 0.6 A ufa feT

(3) 0.8 PeimA Uty e

(4) 1.0 & 5.0 drdfios

[Question ID = 239][Question Description = Q64_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 953]
2. (2) [Option ID = 954]
3. (3) [Option ID = 955]
4. (4) [Option ID = 956]



Correct Answer :-
e (1) [Option ID = 953]

63) " As per IRWM-2000, the pH value of drinking water shall be:

(1) 65t0125

@) 65085
(3) 35t065
(4) 85t0125

AL Yof B HIEa-2000 & FAGR, U 9 Gie" Hie Sae
Bl =R

(1) 65T 125

@ 5385
(3) 35¥ 65
(4) 85® 125

[Question ID = 240][Question Description = Q65_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 957]
2. (2) [Option ID = 958]
3. (3) [Option ID = 959]
4. (4) [Option ID = 960]

Correct Answer :-
® (2) [Option ID = 958]

As per IRWM-2000, (except for hilly areas), the minimum

recommended diameter of sewers shall be-
(1) 5cm
(2) 10 em
(3) 15em
@ 220cm

IS I Zeod U, 2000 & AN, (TFET &1 Dl ishd) Hadl &
gAdH IR e A B -

(1) s5dA
(2) 10%#T
(3) 15T

’ 20 T

[Question ID = 241][Question Description = Q66_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 961]
2. (2) [Option ID = 962]
3. (3) [Option ID = 963]
4. (4) [Option ID = 964]

Correct Answer :-
® (4) [Option ID = 964]



67
) As per IRWM-2000, what is CORRECT about instructions regarding

destruction of explosives?
(1) Black powder should be thrown into hot water

(2) Dynamite or similar explosives should not be destroyed more

than 2.5 Kg at a time
(3) Safety fuse should be destroyed by burning in lengths in the open
@ A of the above

IS 3R 5ec . UH 20005 3FHR, aFRIcH] &I a8 Bl & fHasil &
a3 | gEr e

(1) TTel UBsT @ T Ol 3 31 ¢al dIfel

(2) SRIEAEE AT SHh A AOEhics o Th GAT & 2.5 o
T HF o T8 G5 A = IR

(3) ¥F TS B G A A F Fellhd AL B A AV

@ s Tl

[Question ID = 242][Question Description = Q67_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 965]
2. (2) [Option ID = 966]
3. (3) [Option ID = 967]
4. (4) [Option ID = 968]

Correct Answer :-

e (4) [Option ID = 968]

68) *The Right to Fair Compensation and Transparency in land acquisition,
Rehabilitation and Resettlement Act, 2013" is applicable for the
appropriate Government for:

‘ Land acquisition
(2) Land licensing
(3) Land donation
(4) All of the above:

& el gadrE 3 gAdTeuns ifafaae, 201 3 3 3R
A3 IR URGTRIAT 1 PR SUGH TLHR 6 O 37 38 h
fere ameg e ©

@ i s

(2) ®fd @ onsdw

(3) =

(4) 3udrh |l

[Question ID = 243][Question Description = Q68_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 969]
2. (2) [Option ID = 970]
3. (3) [Option ID = 971]
4. (4) [Option ID = 972]

Correct Answer :-
e (1) [Option ID = 969]



69)
What is the full form of PPE act?

@@ Public Premises (Eviction of Unauthorised Occupants) Act
(2) Public Permission (Eviction of Unauthorised Occupants) Act
(3) Private Person Encrocachment Act
(4) None of the above

drdr s vae F G W FATEET 87

@ TESTeE aREY (IAfFT Feomuiat Fr dgweh) s
(2) wESSF FFATT (3ATFT Feomenivar fr dgwr) sfAfET
(3) wrsde =atad fasaor yfaeaw

(4) FUUFT H | S5 JAd0

[Question ID = 244][Question Description = Q69_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 973]
2. (2) [Option ID = 974]
3. (3) [Option ID = 975]
4. (4) [Option ID = 976]

Correct Answer :-
e (1) [Option ID = 973]

What is CORRECT about Rail Grinding Machine (RGM):
(1) Rail Grinding is done to re-profile the railhead
(2) Rail Grinding is expected to increase the life of the rail
(3) Rail grinding reduces the contact stresses

@» Al of the above

o7 ey ale (GIETH.) & a8 & T I8 &

(1) Ices @ fuiwEd Ha & e I aElE & adr @
(2) I 9ERT & @ & Aagwa d g g it 35905 §
(3) @ IERT § GUh WEdE B o §

@ W T

[Question ID = 245][Question Description = Q70_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 977]
2. (2) [Option ID = 978]
3. (3) [Option ID = 979]
4. (4) [Option ID = 980]

Correct Answer :-
® (4) [Option ID = 980]



71)
Bridges may require rehabilitation on account of these :

(1) Physical distress

(2) Vulnerability on hydrological considerations
(3) Use of obsolete or non-standard materials
@ Al ofthe above

qell o YeAeld @1 JTaRIenl 31 BRO1/ DR § § Fehel -
(1) Tipfomrer Sr¢E

(2) T R & R

(3) 3vdTed ar 3D TETA @ 3UdeT

@ >

[Question ID = 246][Question Description = Q71_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 981]
2. (2) [Option ID = 982]
3. (3) [Option ID = 983]
4. (4) [Option ID = 984]

Correct Answer :-
e (4) [Option ID = 984]

The probable cause of crushing of masonry of arch can be traced to -
(1) Weathenng of masonry
(2) Excessive loading
(3) Inadequate cushion over arch
@ Al of the above

ey & MY & U & &1F F RaEE gl & sk @ amtag
EITITUTF'TH?h_dT %:

(1) TEErs URRT &l 37UaT

(2) 3rcafas @fET

(3) 3T & FUY FRATH PRI

@ > T

[Question ID = 247][Question Description = Q72_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 985]
2. (2) [Option ID = 986]
3. (3) [Option ID = 987]
4. (4) [Option ID = 988]

Correct Answer :-
® (4) [Option ID = 988]



73)
It a flood outside the Railway limits may seriously threaten the safety of

the line, it should be treated as :
(1) Flood
(2) Wash-out

@ Accident

(4) Breach

At Yod W & ared A A F & H gLan B AR @ g dl,

=H AT ST TIRT -
(1) ==
(2) @re3Ee
@ e
(4) o=

[Question ID = 248][Question Description = Q73_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 989]
2. (2) [Option ID = 990]
3. (3) [Option ID = 991]
4. (4) [Option ID = 992]

Correct Answer :-
e (3) [Option ID = 991]

As per IRBM, what is CORRECT about danger level at bridges ?
(1) Danger level is that level of water at which safety of the bridge is
likely to be adversely affected
(2) In case water level reaches up to danger level, all traffic shall
remain suspended till such time a responsible official inspects the
bridge
(3) The danger level shall be fixed for each bridge by the Divisional
Engineer with great caution

‘ All of the above

HEACALTH. & AU, Tall W 3761 o & a # a1 Hel

5

(1) oot Sael UTelt &1 98 T § o ov gor & gear w
ufersel WIg U= T HINEAT Fer ¥

(2) W AT 99 9F [oeliad 90 39 9% FIE SFHET
ATFr gor FT Flreor 7E w7 A

(3) mmMmgﬁ#ﬁuaﬁtma@mﬁnﬁﬁ
a9 Far ser e

&P T walr



[Question ID = 249][Question Description = Q74_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 993]
2. (2) [Option ID = 994]
3. (3) [Option ID = 995]
4. (4) [Option ID = 996]

Correct Answer :-
® (4) [Option ID = 996]

What is the full form of "ROR" used in the estimate sanction of new
projecis?
(1) Revision of Rates
Rate of Return
(3) Rate of Revenue
(4) Reguirement of Revenue

5 URASATHT 1 TEhee Tl # UGW IR B g &
1 72

(1) e HF I

@ e Red

(3) T 3w W=y

(4) REaEdac 3 W=

[Question ID = 250][Question Description = Q75_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 997]

2. (2) [Option ID = 998]

3. (3) [Option ID = 999]

4. (4) [Option ID = 1000]

Correct Answer :-
® (2) [Option ID = 998]

Which of the full forms of abbreviated words in connection with Indian
Railways is incorrect:

(1) IRTMS is Indian Railways-Track Management System

(2) IRPSM is Indian Railways Project Sanctions and Management

(3) IRBMS is Indian Railways Bridge Management System

@ |RBSMS is Indian Railways Bridges & Scour Management System

I o & Hau # @feved aeel F FiF 6 9oF T e

(1) HEATIATHATH. WD 9 &F ya9 UoTer &
(2) HEIRN R TH R IRAT od afareeT wlieta A vaue
(3) HEINTATHUE ITAT WEaS oo Aqase Reeag
@ Mim@d e R T oo v TR AaeHe
Rreen i
[Question ID = 251][Question Description = Q76_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1001]

2. (2) [Option ID = 1002]
3. (3) [Option ID = 1003]



4. (4) [Option ID = 1004]

Correct Answer :-
® (4) [Option ID = 1004]

77)  As per "IR Standard GCC for execution of Works”, all disputes and
differences of any kind, for demanding the Arbitration, under Clause
63.1, shall be referred to:
(1) Chief Engineer
(2) JAG officer of concerned unit
(3) DRM
& General Manager

“HIS. AR, Hrend fAvures g Aeen A" & daaR, fhdr o
TR & fadIg 312ar AdeG ol WX Jefeg 63.1% hia anfiadee #r
Fior & oW =98 4 O T R Smee-
(1) FE Felifey
2) TR YEe & Hla8 uRmrEEs A
(3) FEa @ udgs
@ HEVEYS
[Question ID = 252][Question Description = Q77_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1005]
2. (2) [Option ID = 1006]

3. (3) [Option ID = 1007]
4. (4) [Option ID = 1008]

Correct Answer :-
® (4) [Option ID = 1008]

The Maintenance Certificate signed by the Engineer should mention
that :

(1) The work has been completed and maintained to his satisfaction
(2) Al the contractual obligations have been fulfilled by the Contractor

(3) There is no due from the Contractor to Railways against the
contract concerned

' All the above

TNy ZaT gFaRild #Aveolew HiEfhhe H Soo@ @er TfFT T
(1) &7 3wedr gafte g gr 7ar § sk Avder off Rear mar &
(2) S¥er Zawr Tt wiEeAs aiReal S qu fear T

(3) wEfAT seray F IFAW A WA FN OFE THTAT AL

@ ZFa Tl

[Question ID = 253][Question Description = Q78_AEN_PA_NAIRJUNE23]
. (1) [Option ID = 1009]
(2) [Option ID = 1010]
(3) [Option ID = 1011]
(4) [Option ID = 1012]

N

A w N



Correct Answer :-
® (4) [Option ID = 1012]

The Earnest Money Deposit of the successful tenderer gets
converted into :
(1) Performance Guarantee

@ Security Deposit
(3) Fixed Deposit
(4) Term Deposit

A%e e 61 3 74r Bue e & oREfEa &
T F

(1) OHIHT T
e R Rute
(3) frFas RTufere

(4) =H REuEe

[Question ID = 254][Question Description = Q79_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1013]
2. (2) [Option ID = 1014]
3. (3) [Option ID = 1015]
4. (4) [Option ID = 1016]

Correct Answer :-
® (2) [Option ID = 1014]

What does NOT come under the responsibility of Railway Protection
Force?
(1) Protect and safeguard raillway passengers

(2) To remove any obstruction in the movement of railway property or

passenger area
(3) Protect and safeguard railway property
@ | aw and Order in civil areas

(1) Tor AT 6 qam SR FLar HLer
(2) Y@ Gufa a1 I &1 T Jarsre o et oft arer argx
THEAT
(3) = gufy $ @ 3R glen ot
@ TG & F ae IR e

[Question ID = 255][Question Description = Q80_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1017]



2. (2) [Option ID = 1018]
3. (3) [Option ID = 1019]
4. (4) [Option ID = 1020]

Correct Answer :-
® (4) [Option ID = 1020]

Only this track machine has arrangement for lifting of 3rd rail at
turnouts;
(1) MPT
(2) UNIMAT 25
@ UNIMAT 35
(4) DUOMATIC

Tael 0 & UG & TAABE B AL I T SO B ardm § -

(1) wHOLE

(2 gE#e 21w9
@ e aw

(4) EgARD

[Question ID = 256][Question Description = Q81_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1021]
2. (2) [Option ID = 1022]
3. (3) [Option ID = 1023]
4. (4) [Option ID = 1024]

Correct Answer :-
e (3) [Option ID = 1023]

At the end of PQRS wark, ramp between new and old track should not
be steeper than -
(1) 50 mm per rail length of 12.6m
(2) 30 mm per rail length of 12.6m
Q 25 mm per rail length of 12.6m
(4) 20 mm per rail length of 12.6m

W ARLITH. FE & 35d & a¢ 3R @& &5 & da {u F= |
(1) 50 Tl ufg 12.6 o Tor olars
(2) 30 el ufd 12.6 &Y 39 waE

25 foel ufd 12.6 &Y o wlas
(4) 20 T ufd 12.6 & I wEB

[Question ID = 257][Question Description = Q82_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1025]
2. (2) [Option ID = 1026]
3. (3) [Option ID = 1027]
4. (4) [Option ID = 1028]

Correct Answer :-
e (3) [Option ID = 1027]



83
) In case of malfunctioning of the tamping machine deployed behind

BCM :

@ BCM working shall be stopped and the unattended track to be
tamped manually before opening for traffic

(2) BCM working to continue and track to be tamped manually

(3) BCM working shall be stopped and track to be attended by DTS
machine

(4) None of the above

dLE A JAfer F AdS g 1 R A F @e g fr B
H:

@y FTHTA F FH FeU ag & GGr e Hy we-atesE W
N HeqoaT T TFT fFar sroam

(2) frHELTH. ¥ FH A @ SMOT AW TF T ATHT T F T
ferar SToe |

(3) A TH F FH FET g€ FT AT Frow v S vw. qfiw
ZaANT &&F F 3es Fram smoa

(4) 3UNFT H A FI5 74

[Question ID = 258][Question Description = Q83_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1029]
2. (2) [Option ID = 1030]
3. (3) [Option ID = 1031]
4. (4) [Option ID = 1032]

Correct Answer :-
e (1) [Option ID = 1029]



84)  \What is CORRECT about block working of Track machines 2

(1) Track machine staff shall be conversant with the relevant
provisions of G&SR

(2) Guard or a brake van will not be needed for Self Propelled Track
Machines.

(3) Track machines shall also be equipped with prescribed set of
safety equipment to ensure safe movement and working
@ Al of the above

& aRNT T Soiih RO & ar T TE b2

(1) ¢ RN & DA A UUs TH HR. & UG uhasEr O
afifEd e

(2) TT-arfad ¢ @it & Jaene & o e @ g 39 6
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susell & FUiia e & O gafoad &ar g
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[Question ID = 259][Question Description = Q84_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1033]
2. (2) [Option ID = 1034]
3. (3) [Option ID = 1035]
4. (4) [Option ID = 1036]

Correct Answer :-
® (4) [Option ID = 1036]

The functions of the Central Periodical Overhauling (CPOH) Workshop
for Track Machines are -
(1) Penodical Overhauling of machines

(2) Post-POH service to Zonal Railways and performance monitoring
of overhauled items

(3) Acting as knowledge centres for track machines
@ A ofthe above

& aefiEl & o adl dea dRAREsa et @ disiog)
TPRAT & DA & -

(1) =i=" & 3mafs et

(20 Shae Yod @ dLaeg, & ag H Far 3R e & T

a3t & fHeurgea #r feerEn
(3) & AWAT & A Dal h U F DR DA
@ 0w T

[Question ID = 260][Question Description = Q85_AEN_PA_NAIRJUNE23]
1. (1) [Option ID = 1037]
2. (2) [Option ID = 1038]
3. (3) [Option ID = 1039]
4. (4) [Option ID = 1040]

Correct Answer :-
® (4) [Option ID = 1040]



Topic:- AEN_PB_NAIRJUNE23 PATR B

1)
Garampani sanctuary is located at :

1) Junagarh, Gujarat
* Diphu, Assam

(3) Kohima, Nagaland

(4) Gangtok, Sikkim

TTHATAT HIATOT Fal fourT &
(1) SRIE, o
@ &% 3uA

(3) HITEAT, AT
(4) rers, e

[Question ID = 261][Question Description = Q01_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1041]
2. (2) [Option ID = 1042]
3. (3) [Option ID = 1043]
4. (4) [Option ID = 1044]

Correct Answer :-
® (2) [Option ID = 1042]

Who had invented Telephona?
@ Alexander Graham Bell

(2) Guglielmo Marconi

(3) James Watt

(4) Alexander Fleming

Toiwle &1 nfaser fraa R anr
@ vATSIET ARH AT

(2) AFaeAr Al

(3) siFw arc

(4) AT FATHT

[Question ID = 262][Question Description = Q02_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1045]
2. (2) [Option ID = 1046]
3. (3) [Option ID = 1047]
4. (4) [Option ID = 1048]

Correct Answer :-
e (1) [Option ID = 1045]



3)
Guwahati High Court is the judicature of which state/states ?

(1) Nagaland
(2) Arunachal Pradesh
(3) Assam

@ Allof the above

TAETE 3o 7O 58 USaiTsdl & FAraaiioreT § 2
(1) «mmeE

(2)  STTOTTIT Weer

(3) HEH

P =T =3k

[Question ID = 263][Question Description = Q03_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1049]
2. (2) [Option ID = 1050]
3. (3) [Option ID = 1051]
4. (4) [Option ID = 1052]

Correct Answer :-
e (4) [Option ID = 1052]

Who was the first Indian Commander-in-Chief of the Indian Army?
@D Field marshal K.M. Cariappa

(2) General K. 5. Thimayya

{(3) Gen. Maharaja Shri Rajendrasinghji

(4) MNone of the above

AT AT & Ugo HARAT FAE-SA-TIS FieT o7
@ = T Fua FhEew

(2) =eRe &.ow. [az=n

(3) oRw Agwem A TSRfAES

(4) >W=a & 7S 78

[Question ID = 264][Question Description = Q04_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1053]
2. (2) [Option ID = 1054]
3. (3) [Option ID = 1055]
4. (4) [Option ID = 1056]

Correct Answer :-
e (1) [Option ID = 1053]



5)
Escape velocity of a rocket fired from the earth towards the moon is a
velocity to get rid of the :
@® Earth's gravitational pull
(2) Moon's gravitational pull
(3) Centripetal force due to the earth's rotation
(4) Atmospheric Pressure

gedt § TgeAr I T I AT AFe FT HFd a7 FER gewn 9=
a:rahr%:

@) & FT TEcarROr A=

(2) TEHAT FT TTcarHyOT (ErATT

(3) g & gota & FROT AFearT I

(4) aTgHSA FT TAE

[Question ID = 265][Question Description = Q05_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1057]
2. (2) [Option ID = 1058]
3. (3) [Option ID = 1059]
4. (4) [Option ID = 1060]

Correct Answer :-
e (1) [Option ID = 1057]

Fathometer is used fo measure:
(1) Earthguakes
{2) Rainfall Intensity
‘| Ocean depth
(4) Intensity of sound

therHeT &1 39anT I Aa F B & e §

(1) T
(2) a7 & aar

@ ALK F1 TS
(4) eafer dtaar

[Question ID = 266][Question Description = Q06_AEN_PB_NAIRJUNE23]
(1) [Option ID = 1061]
. (2) [Option ID = 1062]
. (3) [Option ID = 1063]
. (4) [Option ID = 1064]

A wWN =

Correct Answer :-
® (3) [Option ID = 1063]



7)
In which year did Sir Edmund Hillary and Sherpa Tenzing Norgay
reach the summit of Mount Everest?

(1) 1952
@ 1953
(3) 1954
(4) 1955

W veHE gy A oo aafeier & fFw o AEe e &
a’!ﬂﬂ@ﬂ?

(1) 1952

@ 1953

(3) 1954

(4) 1955

[Question ID = 267][Question Description = Q07_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1065]
2. (2) [Option ID = 1066]
3. (3) [Option ID = 1067]
4. (4) [Option ID = 1068]

Correct Answer :-
® (2) [Option ID = 1066]

‘Shaurya — Dndhata — Kam Nishtha' is the motio of which armed
force of India?
Indo-Tibetan Border Police
(2) Indian Coast Guard
(3) Border Security Force
(4) Assam Sentinels

sitd-rea-aa faser Ra & Fw TuEs T@ &1 FEY a9 B
@ o-freww dew gfew

(2) HRAET T 8F

(3) AT gREw T

(4) FEH TEd

[Question ID = 268][Question Description = Q08_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1069]
2. (2) [Option ID = 1070]
3. (3) [Option ID = 1071]
4. (4) [Option ID = 1072]

Correct Answer :-
e (1) [Option ID = 1069]



9)
Which is called the steel city of India?
Jamshedpur
(2) Bhilai
(3) Bokaro
{4) Durgapur

AR 1 T A0 FE F Sar B
Q® s=Ew
(2) Py
(3) SR

(4) IR

[Question ID = 269][Question Description = Q09_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1073]
2. (2) [Option ID = 1074]
3. (3) [Option ID = 1075]
4. (4) [Option ID = 1076]

Correct Answer :-
e (1) [Option ID = 1073]

When any house of parliament (Lok Sabha or Rajya Sabha) 1s
adjouned without mentioning the day for reassembly, it is known as:
1) Adjournment of Debate
Adjournment Sine die
(3) Adjournment of the sitting of the House
(4) None of the above

5 §ug & forel ot wew (diFwen a1 Usg @) 1 T @AdA
B9 ¥ B &1 3vow v faar T & @@ o & 8 53 Far
ST &

(1) ae-faarK F1 t=ewdc

@ yRuaEe F Bw e

(3) g #1 357 1 t==leiAc

(4) STET # ¥ FE A

[Question ID = 270][Question Description = Q10_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1077]
2. (2) [Option ID = 1078]
3. (3) [Option ID = 1079]
4. (4) [Option ID = 1080]

Correct Answer :-
® (2) [Option ID = 1078]



11)
The highest law officer in India is :
@ Attorney General
(2) Advocate General
(3) Additional General
(4) None of Above

9T FT waf=aw fafer sfeerd &
@ el St

(2) vUEAlkE SEIA

(3) wHfaRwT =t

(4) 3UNFT H | FIT FA&T

[Question ID = 271][Question Description = Q11_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1081]
2. (2) [Option ID = 1082]
3. (3) [Option ID = 1083]
4. (4) [Option ID = 1084]

Correct Answer :-
e (1) [Option ID = 1081]

12)
Which statement is correct for Vande Bharat Express:
(1) It was formerly known as Train 18
(2) liis an electric multiple unit train
g It is made for low maintenance and operational costs
All of the above
¢ 9RT Teuw & fov #iF ar & 88 &
(1) =& ggel T 18 & @H & SATaAT ST AT
(2) w§ vw safecs Acduw fAc ¢ ¢
(3) TE &F EEE IR iEes aeg & & aq@m@r & ¢
@ swET wh

[Question ID = 272][Question Description = Q12_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1085]
2. (2) [Option ID = 1086]
3. (3) [Option ID = 1087]
4. (4) [Option ID = 1088]

Correct Answer :-
® (4) [Option ID = 1088]



13)
The Government had decided to merge Rail Budget with the Union
Budget from which budget year:

(1) 2016-17
@ 201718
(3) 2018-19
(4) 2019-20

TN & 5F 9 of q @ T9ic 3 FLT g9c A Todg FA &
ot o ar

(1) 2016-17
@ 2017-18
(3) 2018-19
(4) 2019-20

[Question ID = 273][Question Description = Q13_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1089]
2. (2) [Option ID = 1090]
3. (3) [Option ID = 1091]
4. (4) [Option ID = 1092]

Correct Answer :-
® (2) [Option ID = 1090]

What was the earller name of Deendayal Port?
@ Kandla Port

(2) Mazagaon port

(3) Mundra Pori

(4) Paradip Port

&leTgaTe GaUINg T YU ATH &1 AT ?
@ iz dqwTE

(2) wgrTe dETaE

(3) H@ WETeE

(4) YR S

[Question ID = 274][Question Description = Q14_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1093]
2. (2) [Option ID = 1094]
3. (3) [Option ID = 1095]
4. (4) [Option ID = 1096]

Correct Answer :-
e (1) [Option ID = 1093]



15)
Electric bulb filament is made of.
(1) Copper
(2) Aluminium
(3) lLead

@ Tungsten

fagga ava Tranic @@ @ Fw =1 @ @i &
(1) &R

(2) wegfAfags
(3) ==

@ <=

[Question ID = 275][Question Description = Q15_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1097]
2. (2) [Option ID = 1098]
3. (3) [Option ID = 1099]
4. (4) [Option ID = 1100]

Correct Answer :-
® (4) [Option ID = 1100]

What is correct about Sengol?

(1) Itis asacred sceptre

(2) It belongs to ancient Chola dynasty

(3) It represents ethical-spiritual authority or Dharma Danda’
. All of the above

e F TN A T TE 82

(1) 9§ o= 9 Teige ¢

(2) aE Wl oY d9

(3) TF Afaw-smeaieas sftER a1 ‘o g7 &1 wiafaftes s §
@ s weh

[Question ID = 276][Question Description = Q16_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1101]
2. (2) [Option ID = 1102]
3. (3) [Option ID = 1103]
4. (4) [Option ID = 1104]

Correct Answer :-
e (4) [Option ID = 1104]



17)
Which of the following books is not written by Munshi Premchand?
(1) Gaban
(2) Godan
@ Guide

{4) Mansaravar

forafafa & & #la @t gras gt Swag qEnr @ e e
(1) &=t

(2) =gmer

@ =

(4) AFEUET

[Question ID = 277][Question Description = Q17_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1105]
2. (2) [Option ID = 1106]
3. (3) [Option ID = 1107]
4. (4) [Option ID = 1108]

Correct Answer :-
e (3) [Option ID = 1107]

Which is the longest river of all the west flowing rivers of India?
(1) Tapth

(2) Kavern

(3) Krishna

‘ Narmada

SR & Wt oifae &1 A o Tl afedl F g o aa whe
@ &

(1) et

(2) =l

(3) Fwom
@

[Question ID = 278][Question Description = Q18_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1109]
2. (2) [Option ID = 1110]
3. (3) [Option ID = 1111]
4. (4) [Option ID = 1112]

Correct Answer :-
® (4) [Option ID = 1112]



19)
In how many Postal Zones India has been divided?
(1) Sixincluding one for Indian Army
(2) Seven including one for Indian Army
(3) Eight including one for Indian Amy
- MNine including one for Indian Army

SRT # e = el & e
(1) srdrr ¥ & fw v aRa o
(2) 9RdT ¥a1 F v vE @fga 99
(3) sRdT T F ®C vE wigg A6
@) schy I F Fv s aRg at

[Question ID = 279][Question Description = Q19_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1113]
2. (2) [Option ID = 1114]
3. (3) [Option ID = 1115]
4. (4) [Option ID = 1116]

Correct Answer :-
e (4) [Option ID = 1116]

When does the Solar Eclipse occur?

(1) When Sun is between Moon and Earth

(2) When Earth is between Moon and Sun
@ When Moon is between Earth and Sun

{4) None of the above

I T FA g 87

(1) o= qF g 3R At & diw @ §
(2) & qudt " AR gF F AT @ |
@ =@ e g 3R g & o g ¥
(4) ST # T 2E ag

[Question ID = 280][Question Description = Q20_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1117]
2. (2) [Option ID = 1118]
3. (3) [Option ID = 1119]
4. (4) [Option ID = 1120]

Correct Answer :-
® (3) [Option ID = 1119]



21)
Which among the following cities is at the highest altitude above
mean sea level?

@ Bangaiore
(2) Delhi
(3) Dehradun
(4) Nagpur

farafafea & @ #ia a1 o At 79y o @ 9 T FuE

W

@ Er
(2) feh
(3) g
(4) emTg

[Question ID = 281][Question Description = Q21_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1121]
2. (2) [Option ID = 1122]
3. (3) [Option ID = 1123]
4. (4) [Option ID = 1124]

Correct Answer :-
e (1) [Option ID = 1121]

The ‘Damodar Valley Project’ is concerned with these two states
(1) Madhya Pradesh and Uttar Pradesh
@ \Vest Bengal and Jharkhand

(3) Maharashtra and Karnataka

(4) Haryana and Punjab

gTAET =TEr aREsET 39 & Teal ¥ Hatad §
(1) #eT v #HT e

@ UNTH T T SREs

(3) HEWTSE AR FeAleH

(4) gframor st g

[Question ID = 282][Question Description = Q22_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1125]
2. (2) [Option ID = 1126]
3. (3) [Option ID = 1127]
4. (4) [Option ID = 1128]

Correct Answer :-
® (2) [Option ID = 1126]



23)
Which is the highest literary award of India?
@ . nanpith Award
(2) Sahitya Akademi Award
(3) Sahitya Akademi Yuva Puraskar
(4) Rabindra Puraskar

HRd F Fafed WIRed [EHR S a1 2
@ IS TEEN

(2) wftex e TEER

(3) wfeew e a1 [WEHR

(4) i TEER

[Question ID = 283][Question Description = Q23_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1129]
2. (2) [Option ID = 1130]
3. (3) [Option ID = 1131]
4. (4) [Option ID = 1132]

Correct Answer :-
e (1) [Option ID = 1129]

Where was Lord Buddha born?
(1) Kushinagar
Lumbini
(3) Vaishali
(4) Bodh Gaya

S qEY & e A FEI gav °n

(1) wFfemR
@ TFeh
(3) demelt
(4) =TI

[Question ID = 284][Question Description = Q24_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1133]
2. (2) [Option ID = 1134]
3. (3) [Option ID = 1135]
4. (4) [Option ID = 1136]

Correct Answer :-
® (2) [Option ID = 1134]



25)
Where is the 'Indian Institute of Science’ located?
(1) Kochi
(2) Madras (Chennai)
) Bangalore
(4) New Delhi

(1)

(2) Far (A%
@ e

(4) % el

[Question ID = 285][Question Description = Q25_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1137]

2. (2) [Option ID = 1138]

3. (3) [Option ID = 1139]

4. (4) [Option ID = 1140]

Correct Answer :-

e (3) [Option ID = 1139]

The first war of independence fought in 1857 in India was against :
@ British Rule

(2) The Portuguese

(3) The French

(4) None of the above

U H 1857 W WIST AT WUH FaaAdT HAH TFud faweer o :

® Ty e
(2) el
(3) werEHr

(4) 3UNFT H A FIE 70

[Question ID = 286][Question Description = Q26_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1141]
2. (2) [Option ID = 1142]
3. (3) [Option ID = 1143]
4. (4) [Option ID = 1144]

Correct Answer :-
e (1) [Option ID = 1141]



27)
Which is correct about Vatican City ?

(1) Area wise, it is the smallest country in the world
(2) Itis home to the Pope
(3) Itz areais only 0.44 km?

@@ Allofthese

Mea s Asaaad @

(1) rraHrMc AT ag RIFTFaR ST U §
(2) 4E AT FEE

(3) SWET S Faw 0.44 T e B

@ T wh

[Question ID = 287][Question Description = Q27_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1145]
2. (2) [Option ID = 1146]
3. (3) [Option ID = 1147]
4. (4) [Option ID = 1148]

Correct Answer :-
® (4) [Option ID = 1148]

Which 1s the longest earthen dam in the world ?
(1) Bhakra Nangal dam
@ Hirakud dam
{3) MNarmada Sagar dam
(4) Tehri dam

favg &1 waw war AT 1 @w FF @

(1) STEET FAeTer @i

@ tuisaw
(3} FHGT WA A
(4) Teglt @i

[Question ID = 288][Question Description = Q28_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1149]
2. (2) [Option ID = 1150]
3. (3) [Option ID = 1151]
4. (4) [Option ID = 1152]

Correct Answer :-
® (2) [Option ID = 1150]



29)
What is Amrit Bharat Station scheme of Indian Railways?

(1) His to modernize railway stations across India

(2) It aims to create master plans to enhance the facilities at
stations

@® Both (1)and (2)
(4) None of the above

ARl @d $f ‘FHd ARG ¥ dear F491 87
(1) s5H 9¥ 8RT &§ @0 BRI & YT FE §

(2) THS 35530 VI W AU # aem F fAv Ay @
AT §

@ o= ()3FR Q)
(4) 3S9ET A § FE A

[Question ID = 289][Question Description = Q29_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1153]
2. (2) [Option ID = 1154]
3. (3) [Option ID = 1155]
4. (4) [Option ID = 1156]

Correct Answer :-
® (3) [Option ID = 1155]

Who is considered as father of Indian Railways ?
@ Lord Dalhousie

(2) George Stephenson

(3) Lord Hardinge

(4) None of above

HRAT Y99 &1 Sa% &8 AE Sar &7

@ =i seEhh
(2) oIt TERREA
(3) @E gifder

(4) FIWEFT H § FE Ag

[Question ID = 290][Question Description = Q30_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1157]
2. (2) [Option ID = 1158]
3. (3) [Option ID = 1159]
4. (4) [Option ID = 1160]

Correct Answer :-
e (1) [Option ID = 1157]



31)
Which is CORRECT statement about Indian Judiciary ?

(1) India has a single integrated judicial system

(2) India has a pyramidal structure with the Supreme Court at the
top

(3) The lower courts function under the direct superintendence of
the higher courts

@ All of above

AT FaTaqIferdT & 97 # Hid HAT FUT Tl 87
(1) 9 & T CHFT FAaE qoTel ¥
(2) AT & oY 9T Taf=a FOa=g & 1Y U mUE

T &
(3) o=l IEEd 3= FAAal & Ueaey arefteror & 9
FTAT B

@ >TOF Tl

[Question ID = 291][Question Description = Q31_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1161]
2. (2) [Option ID = 1162]
3. (3) [Option ID = 1163]
4. (4) [Option ID = 1164]

Correct Answer :-
® (4) [Option ID = 1164]

When were the first general election held in India after
independence?

(1) 1947-48
(2) 1950-51

@ 19515

(4) 1954-55

Taddl & 91 AN # YA A goE Fa g B
(1) 1947-48
(2) 1950-51

@ 195152
(4) 1954-55

[Question ID = 292][Question Description = Q32_AEN_PB_NAIRJUNE23]



(1) [Option ID = 1165]
(2) [Option ID = 1166]
(3) [Option ID = 1167]
(4) [Option ID = 1168]

A W N -

Correct Answer :-
e (3) [Option ID = 1167]

Which is the smallest Ocean in the werld?
@ Arctic Ocean

(2) Atlantic Ocean

(3) Indian Ocean

(4) Pacific Ocean

faRg &1 @ed BT AFEER ST I1 87
@ FHRF FEEIR

(2) 3cHIcE ASHNR

(3) Tg AFEIR

(4) RN AGTENR

[Question ID = 293][Question Description = Q33_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1169]
2. (2) [Option ID = 1170]
3. (3) [Option ID = 1171]
4. (4) [Option ID = 1172]

Correct Answer :-
e (1) [Option ID = 1169]

Which 15 smallest continent in the world?

‘ Australia

(2) Alrica
(3) Europe
(4) Asia

faeg &1 |a® Ser AgGET i AT §2
@ e
(2) 3nfrT

[Question ID = 294][Question Description = Q34_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1173]
2. (2) [Option ID = 1174]
3. (3) [Option ID = 1175]
4. (4) [Option ID = 1176]

Correct Answer :-



e (1) [Option ID = 1173]

Which i1s the smallest state in India?

@ Goa
(2) Sikkim
(3) Tripura
(4) Magaland

R & §ad ST Ued Sid ° §7
@ e
(2) TAEEA

(3) Prgu

(4) @AmMelE
[Question ID = 295][Question Description = Q35_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1177]
2. (2) [Option ID = 1178]

3. (3) [Option ID = 1179]
4. (4) [Option ID = 1180]

Correct Answer :-
e (1) [Option ID = 1177]

What are the objectives of National Rail Plan — 2030 ?
(1) To create capacity ahead of demand

(2) To increase the modal share of Railways to nearly 45% in
freight traffic

(3) To reduce transit time of freight substantially
@ All of above

TSR T WS - 2030 F 3T FAT § 7

(1) &FT & gger siFar fordATor Ften

(2) ®rr gATS A oA F A BET F AN 45% AF q@r_
(3) AT TATE & WTHA THT FT FH FH FIT

® swiFa @k

[Question ID = 296][Question Description = Q36_AEN_PB_NAIRJUNE23]
. (1) [Option ID = 1181]
. (2) [Option ID = 1182]
. (3) [Option ID = 1183]
. (4) [Option ID = 1184]

A wWw N =



Correct Answer :-
® (4) [Option ID = 1184]

Which is the highest mountain in the world?
(1) K-2 or Godwin Austen
‘ Mount Everest
(3) Kanchenjunga
(4) Nanda Devi

favT &1 9=@ F=1 vda &iF @1
(1) -2 a1 Mefaa AT
@ T TEne

-

(3)  etste

(4) e &t

[Question ID = 297][Question Description = Q37_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1185]
2. (2) [Option ID = 1186]
3. (3) [Option ID = 1187]
4. (4) [Option ID = 1188]

Correct Answer :-
e (2) [Option ID = 1186]

%) When was the first passenger railway line opened in India?
(1) 1847
@ 1853
(3) 1857
(4) 1858

NRT # 9gd 9l Y39 e w9 @ a8 o

(1) 1847
@ i3s3
(3) 1857
(4) 1858

[Question ID = 298][Question Description = Q38_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1189]
2. (2) [Option ID = 1190]
3. (3) [Option ID = 1191]
4. (4) [Option ID = 1192]

Correct Answer :-
® (2) [Option ID = 1190]



> Where is the Headquarter of World Health Organization ?

(1) Washington DC

@) Geneva
(3) Rome
(4) Paris
g Farea w@9ed 1 AEAET FE § ?
(1)  arferrEe andr
a@d F=ar
(3) A
(4) ofw

[Question ID = 299][Question Description = Q39_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1193]
2. (2) [Option ID = 1194]
3. (3) [Option ID = 1195]
4. (4) [Option ID = 1196]

Correct Answer :-
® (2) [Option ID = 1194]

Which city of India is popularly known as Black Diamond City ?

@ Dhanbad
(2) Jharia
(3) Giridih
(4) Korba

NRE & [ 98T & =ie 2rgdAE RE F a1 o S S 8
@ s
(2) wiREr
(3) PiEE
(4) FraEr

[Question ID = 300][Question Description = Q40_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1197]
2. (2) [Option ID = 1198]
3. (3) [Option ID = 1199]
4. (4) [Option ID = 1200]

Correct Answer :-



e (1) [Option ID = 1197]

TfafEe # & sh-d v /= & B
(1) Faser
(2) wrEs
(3) wWsér
@ TEE

Which of the following i1s scnpt of official language Hindi?
(1) Apabhramsha
(2) Brahmi
(3) Kharoshthi
@D Devanagar

[Question ID = 301][Question Description = Q41_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1201]
2. (2) [Option ID = 1202]
3. (3) [Option ID = 1203]
4. (4) [Option ID = 1204]

Correct Answer :-
® (4) [Option ID = 1204]

TerTYT fgA-1976 & IR 3 & s @ Tfe ¥ Troer &
FT T5eT T T B2

(1) w=
(2 a
® &=

(4) =R

According to the "Official Language Rules-1976", how many regions
have been constituted in the country in terms of language?
(1) One
(2) Two
@ Three

(4) Four

[Question ID = 302][Question Description = Q42_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1205]
2. (2) [Option ID = 1206]
3. (3) [Option ID = 1207]
4. (4) [Option ID = 1208]

Correct Answer :-
e (3) [Option ID = 1207]



43)
TS AT FTUR 3 (3) Fa F v g 2

@ 26==ad, 1965
(2) 26 eTad, 1950
(3) 14 frdew, 1949
(4) A T FE T

When Section 3(3) of the Official Language Act did came into force?
@) 6. anuary, 1965

(2) 26 January, 1950

(3) 14th September, 1849

(4) None of these

[Question ID = 303][Question Description = Q43_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1209]
2. (2) [Option ID = 1210]
3. (3) [Option ID = 1211]
4. (4) [Option ID = 1212]

Correct Answer :-
e (1) [Option ID = 1209]

T oY i fiaw &9 Aar oar § °
(1) 10 fdeT
(2) 11 frdax
(3) 12 G
@ 14 o

When Hindi Day is celebrated every year?
(1) 10 September
(2) 11 September
(3) 12 September

@ 14 September

[Question ID = 304][Question Description = Q44_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1213]
2. (2) [Option ID = 1214]
3. (3) [Option ID = 1215]
4. (4) [Option ID = 1216]

Correct Answer :-
® (4) [Option ID = 1216]



45)
TSI AT, 1963 AT URT 4 fFow dERa & 2

(1) & feedr afafy

(2) ST TSIHTT FTTaa WAt
@ iy v v

(4) 3FH T FS Al

Section 4 of the Official Languages Act, 1963 deals with?

(1) Central Hindi Committee

(2) Regional Official Language Implementation Committee
.} Parliamentary Committee on Official Language

(4) None of these

[Question ID = 305][Question Description = Q45_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1217]
2. (2) [Option ID = 1218]
3. (3) [Option ID = 1219]
4. (4) [Option ID = 1220]

Correct Answer :-
® (3) [Option ID = 1219]

Hiaue & fFE 9T # USHT F @9y # gEye 2
@ v

(2) SET-XV

(3) smT-XVI

(4) =8 & F5 A

Which part of the Constitution contains provisions regarding Official
Language?
Part-XVIl
(2) Part-XV
(3) Part-XVi
(4) None of these

[Question ID = 306][Question Description = Q46_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1221]
2. (2) [Option ID = 1222]
3. (3) [Option ID = 1223]
4. (4) [Option ID = 1224]

Correct Answer :-
e (1) [Option ID = 1221]



47)
TrermeT HfafeEH, 1963 6 arT 7 fFad wefa £

(1) watea g & okt & s & v
@ 3T AT & ot # R & v
(3) Trsgufa gEmT wEAe 3meer

(4) ZH T FE 7

Section 7 of the "Official Languages Act, 1963" deals with?

(1) Use of Hindi in the judgments of the Supreme Court
@ Use of Hindi in the jJudgments of the High Court

{(3) Orders promuigated by the President

{(4) None of these

[Question ID = 307][Question Description = Q47_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1225]
2. (2) [Option ID = 1226]
3. (3) [Option ID = 1227]
4. (4) [Option ID = 1228]

Correct Answer :-
® (2) [Option ID = 1226]

STq WA ST F9AHT 4T O A g% FH Aredt g H feaer
st F anfAer fer T are

@ 14

(2) 18
(3) 22
(4) T & :F @

When the Constitution was adopted, how many languages were
included in the Eighth Schedule inifially?
14
(2) 18
(3) 22
{(4) Nane of these

[Question ID = 308][Question Description = Q48_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1229]
2. (2) [Option ID = 1230]
3. (3) [Option ID = 1231]
4. (4) [Option ID = 1232]

Correct Answer :-
e (1) [Option ID = 1229]



49)
FHE™ TerHTT AT # e wa e
(1) Steradr, 1967
(2) STeradt, 1975
@ =adl, 1976
(4) STeadl, 1974

When was the Parliamentary Committee on Official Language
formed?
(1) January, 1967
(2) January, 1975
) January, 1976
(4) January, 1974

[Question ID = 309][Question Description = Q49_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1233]
2. (2) [Option ID = 1234]
3. (3) [Option ID = 1235]
4. (4) [Option ID = 1236]

Correct Answer :-
e (3) [Option ID = 1235]

af 1973 # ugehlan aifea W& R=dr aasn dfafy & arcger sia
T2

(1) 2% Sy BT

(2) #t W] YHEG

@ 0 T AR A

(4) soH ¥ FIE AT

Who was the chairman of Rail Hindi Salahkaar Samiti formed for the
first time in the year 19737
(1) Shr Jagannath Mishra
(2) ShriLalu Prasad
@) Shri Lalit Narayan Mishra
(4) None of these

[Question ID = 310][Question Description = Q50_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1237]
2. (2) [Option ID = 1238]
3. (3) [Option ID = 1239]
4. (4) [Option ID = 1240]

Correct Answer :-
e (3) [Option ID = 1239]



51)
FHE TSEeT iR fr fras 3T ol § 2
(1) 03
@ o
(3) 02
(a) 05

How many sub-committees are there in the Parliamentary Commitiee
on Official Language?
1) 03
) 04
(3) 02
(4) 05

[Question ID = 311][Question Description = Q51_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1241]
2. (2) [Option ID = 1242]
3. (3) [Option ID = 1243]
4. (4) [Option ID = 1244]

Correct Answer :-
® (2) [Option ID = 1242]

IR (A FHEead A & AT FF g & ?
(1) 9K &1 AGY

(2) X F TS FESHR

(3) FaUA

=

@ = BT Fer WER FFEEdl/ 3awAr/ 9 oty F
aftseasm sTaen

Who is the chairman of the Town Official Language Implementation
Committee?

(1) Mayor of the city

(2) Ward Councillor of the city

Vice-Chancelior
Senior most officer of Ceniral Government Gffices /
Undertakings / Banks etc. in the city

[Question ID = 312][Question Description = Q52_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1245]
2. (2) [Option ID = 1246]
3. (3) [Option ID = 1247]
4. (4) [Option ID = 1248]

Correct Answer :-
® (4) [Option ID = 1248]



53)
AvE I ST $ TSN FA-add ST & 7T ST g

-2

(1) af{ss AvEw FifA® AAFET
(2) AW AvEA 1T VadFH

@ Az I wEuE

(4) FH | FIE RS

Who is the chairman of the Official Language Implementation
Committee of the Divisional Railway Office?
(1) =enior Divisional Personnel Officer
(2) Additional Divisional Railway Manager
Divisional Railway Manager
{4) None of these

[Question ID = 313][Question Description = Q53_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1249]
2. (2) [Option ID = 1250]
3. (3) [Option ID = 1251]
4. (4) [Option ID = 1252]

Correct Answer :-
e (3) [Option ID = 1251]

¥rg WER FHAAmd & Rv Pl 7 @ ek
UISEEH F4T § 7

@ U=

(2) weETer

(3) weror

(4) wrgde

Which of the following is the final Hindi course for employees of the
niral Governmeni?
ﬁ Pragya
(2) Prabodh
(3) Praveen
(4) Private

[Question ID = 314][Question Description = Q54_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1253]
2. (2) [Option ID = 1254]
3. (3) [Option ID = 1255]
4. (4) [Option ID = 1256]

Correct Answer :-
e (1) [Option ID = 1253]



55)
et s & Wi v sedt FeqEE A w9 SiEr v

@ 1967
(2) 1976

(3) 2004
(4) Fo & FE

When Sindhi language was added to the Eighth Schedule to the
Constitution?

@ 1957
(2) 1976
(3) 2004
{4) None of these

[Question ID = 315][Question Description = Q55_AEN_PB_NAIRJUNE23]
1. (1) [Option ID = 1257]
2. (2) [Option ID = 1258]
3. (3) [Option ID = 1259]
4. (4) [Option ID = 1260]

Correct Answer :-
e (1) [Option ID = 1257]

Topic:- AEN_PC_NAIRJUNE23 PART C

What is CORRECT about CPGRAMS from the following ?

(1) Itis an online platform for citizens to lodge their grievances to
public authorities

(2) Itis a single portal connected to all the Ministries/Departments of
Government of India and States

(3) Its full form is Centralised Public Grievance Redress and
Monitoring System
@) All of the above

o # & drd sty rra oy & a8 # 5 T8 &2

(1) ag ArfE & o grdsferes oifdeTon & due R g
FUA FT TF HAASA AT ¢

(2) 4T 9T W@R AT A F wIhr FAErARuen ¥ SEr v
gréer ¥

(3) THHT qUT T FAFA dAF REraT Faner v AT qomsr §
@ sFT T

[Question ID = 316][Question Description = Q01_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1261]
2. (2) [Option ID = 1262]



3. (3) [Option ID = 1263]
4. (4) [Option ID = 1264]

Correct Answer :-
® (4) [Option ID = 1264]

How much joining time is permissible in case of transfer on
administrative grounds at a distance of 1500 km?
(1) 10 days
12 days
(3) 15days
(4) 20 days

1500 Rt &1 gt T TETeS ATUR W TG & AHS A e
SaIEhed TEA AT §?

(1) 10%=

Q® o=

(3) 15f=

(4) 20fes

[Question ID = 317][Question Description = Q02_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1265]
2. (2) [Option ID = 1266]
3. (3) [Option ID = 1267]
4. (4) [Option ID = 1268]

Correct Answer :-
® (2) [Option ID = 1266]

As per which Rule of The Railway Servants (Discipline & Appeal) Rules
1968, the Disciplinary Authority may consider to impose a penalty
without issuing a formal charge-sheet?

(1) Rule-13

@ Rule-14

(3) Rule-18
(4) Rule- 19

& AaF (epamEe IR ) e 1968 & FE W F e,
FAHATHS Wiasr e dtraie aniie s o s# @
W [FOR T T &7
(1) foges -13
' s -14
(3) T - 18
(4) s - 19
[Question ID = 318][Question Description = Q03_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1269]
2. (2) [Option ID = 1270]

3. (3) [Option ID = 1271]
4. (4) [Option ID = 1272]

Correct Answer :-
® (2) [Option ID = 1270]



4)  The Appropriate Authority has the nght to retire a Government Servant

under Rule FR 56(j). Itis:

(1) A Minor Penalty

(2) A Major Penalty

(3) It can be either of the above two
@D !tis nota Penalty at all

3T Wt &1 BIH FR56() F dgd TF SN FHART FT
Aarfeige F=1 F1 FTAFR §1 T &

(1) ©= &g ds

(2) = 9w &

(3) wWIRFA AR AT FE N G TFaT &

@ maEEqaAT

[Question ID = 319][Question Description = Q04_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1273]
2. (2) [Option ID = 1274]
3. (3) [Option ID = 1275]
4. (4) [Option ID = 1276]

Correct Answer :-
® (4) [Option ID = 1276]

For a Railway employee, whe is the “Appointing Authority”? Select
the most appropriate opfion.

(1) Authonty empowered to make appoiniment to the SERVICE or

GRADE of service which the Railway servant holds for the time being.

(2) Authority empowered to make appointment to the POST which he

holds for the time being

(3) Authority which appointed him to such SERVICE, GRADE or POST
Whichever authority is the highest of the above

v Yo FHAR & foe g Wit Sl g &2 sew 39gEd Ree
FT 99 FLI

(1) 38T A dar & 9= & PgiFa F@ & e sfga niter, S
Yo Uas Thoge &

(2) 3@ 9g W g & § v sfga wRed oW W& das
frergrar §

(3) aF WRASR S ¥ das #1 Tt dar, = a1 vy W g Far
@ T # A S it miteT wafew &

[Question ID = 320][Question Description = Q05_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1277]
2. (2) [Option ID = 1278]
3. (3) [Option ID = 1279]
4. (4) [Option ID = 1280]

Correct Answer :-
® (4) [Option ID = 1280]



6) .
Whoao is the Authority to impose a penalty of ‘Cut-in-Pension’ to a Railway

Employee?
(1) General Manager
(2) Railway Board
(3) DaoPT

Q@) President of India

WE FAAR! F FE-SA-9U F FAAT TN qrAT TASRT Fiel g
A

(1) =ETvEy

(2) @3 &

(3) Srxrdirdr

™) AR F Uegul

[Question ID = 321][Question Description = Q06_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1281]
2. (2) [Option ID = 1282]
3. (3) [Option ID = 1283]
4. (4) [Option ID = 1284]

Correct Answer :-
® (4) [Option ID = 1284]

After how many years the commuted portion of pension is restored from
the date of receipt of the commuted pension:

1) 10 Years
* 15 Years
(3) 18 Years
(4) 20 Years

Frqes T &1 Wity # aiw & frae ool & @g Yuw @ oRaEtia
srer R & = R e §2
(1) 109Te
@ 1EE
(3) 18T
(4) 20491
[Question ID = 322][Question Description = Q07_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1285]
2. (2) [Option ID = 1286]

3. (3) [Option ID = 1287]
4. (4) [Option ID = 1288]

Correct Answer :-
e (2) [Option ID = 1286]



) What is the full form of CGEGIS?
.. Central Government Employees Group Insurance Scheme
{2) Central Government Employees Group Increment Scheme
(3} Central Government Employees Group Investment System
(4) None of the above

@ adew & of wFn R

@) i wER FHA wEp dar D

(2) &% TER FHAN T Ao qER Do
(3) %E WER F FHUN TAg W3 womelr
(4) FWEFT A T F1E 7T

[Question ID = 323][Question Description = Q08_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1289]
2. (2) [Option ID = 1290]
3. (3) [Option ID = 1291]
4. (4) [Option ID = 1292]

Correct Answer :-
e (1) [Option ID = 1289]

In respect of ‘Interest’ on the Provident Fund, which statement is
correct?
(1) Date of deposit shall be the first day of month in which it is
recovered
(2) If PF amount is forwarded by the subscriber, date shall be deemed
to be the first day of the month of receipt if received by the Accounts
Officer before the fifth day of that month
(3) If PF amount is forwarded by the subscriber and it is received on
or atter the fifth day of that month, the date shall be deemed to be first
day of next month

@ Al of the above

ey @A W == F g9 # Fla-ar Fua ag 80
(1) =@ @ airE 3W AW &1 Jgan Ge grit o 38 aum e
ST §
(2) afg dew af¥r sduEar @R AT f1 ol § @ At w5
wite & AfW &1 ggan faet A seen gfg dwr AfOEH @R 3§
Ao & UTad E ¥ e wiew B @)
(3) afy dww ey seErer g@nr AT fr ot § A3k 9w 5w
Ao & urad R a1 39F a5 e g §, @ ae # 3S Afe
&1 ggel &7 AT AT
@ sTiEa wsft

[Question ID = 324][Question Description = Q09_AEN_PC_NAIRJUNE23]

1. (1) [Option ID = 1293]

2. (2) [Option ID = 1294]

3. (3) [Option ID = 1295]
4. (4) [Option ID = 1296]

Correct Answer :-
® (4) [Option ID = 1296]



10
) In case both the spouses are Government Servants, Children Education

Allowance reimbursement is admissible to:
(1) Both
(2) Only mother
(3) Only father
Any one of them

afg ofr i ool gt & W das B ae @t W s afegfd
Fa & e e ¢

(1) dr

(2) g AT

(3) Fae =T

@ sF s N

[Question ID = 325][Question Description = Q10_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1297]
2. (2) [Option ID = 1298]
3. (3) [Option ID = 1299]
4. (4) [Option ID = 1300]

Correct Answer :-
® (4) [Option ID = 1300]

What is the maximum period of ‘Leave on Average Pay’ at a fime that a
Railway Servant may be granted?

(1) 90 Days
(2) 135 Days
180 Days

(4) 200 Days

F & A& H TF 9K A JHea daq W gedr 1 Hwan waf
frertt & wwt &7

(1) oofes

{2) 135Re

@ 120w

(4) 200

[Question ID = 326][Question Description = Q11_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1301]
2. (2) [Option ID = 1302]
3. (3) [Option ID = 1303]
4. (4) [Option ID = 1304]

Correct Answer :-
e (3) [Option ID = 1303]



12
! After retirement of a Railway Employee, a charge sheet to him can be
issued only by the :
(1) General Manager
(2) Controlling Officer
(3) Appointing Authority
@® President of India

Yo A #r Qarfagfa & o, 30 aehfie Fao 39 it gam
ST TS TFEAT E

(1) FETTaaF

(2) Tora=or sigsE
(3) Ferafa it
@ IT F Useufa

[Question ID = 327][Question Description = Q12_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1305]
2. (2) [Option ID = 1306]
3. (3) [Option ID = 1307]
4. (4) [Option ID = 1308]

Correct Answer :-
® (4) [Option ID = 1308]

How many women should be employed in & factory for provision of
Creches for children of women employees !
(1) 20
@ 30
(3) 40
(4) 50

Ao FHAUIRG! & F=dl & foT 9 H gavw F v s sRaEs

# fraett AfgeEt = stT g afge:
(1) 20
@ 30
(3) 40
(4) 50

[Question ID = 328][Question Description = Q13_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1309]
2. (2) [Option ID = 1310]
3. (3) [Option ID = 1311]
4. (4) [Option ID = 1312]

Correct Answer :-
® (2) [Option ID = 1310]



14)
Up to which periad after child birth, ‘Paternity Leave’ can be granted?
(1) 1 month
(2) 3 month
(3) 4 month

@ 6 month

7= & Sed & 915 5w el a5 ‘Rger saenr Rar snoawar g2
(1) 1 #g=
(2) 3 7g=
(3) 4 AW
@) 6 7=

[Question ID = 329][Question Description = Q14_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1313]
2. (2) [Option ID = 1314]
3. (3) [Option ID = 1315]
4. (4) [Option ID = 1316]

Correct Answer :-
® (4) [Option ID = 1316]

What is CORRECT in relation to the "The Railway Servants (Hours
of Work and Period of Rest) Rules, 2005" :
(1) All employments of Railway servants except those excluded from
purview of the Hours of Employment Regulations, are assumed to be
"‘Continuous'
(2) Employment is considered ‘Intensive’ when the work is of
strenuous nature causing mental or physical strain
(3) In ‘Essentially intermittent' classification of employment, the
periods of inaction of less than 5 minutes shall be ignored

@P) All of the above

Tl Has (F1H & T AT e $r 3ef) &=, 2005” & g9 A
HE TR
(1) oratee & ue RfFETAT & Y ¥ agT fFv v Jh #F SEwT
W aw & T FaeeT w® eaT A e
(2) foralSTeT F ‘SH TUIA FAT ST § 5d FA 587 WET UHio F
& e A=t ar oafie aere gar &
(3) VT & Ao w7 ¥ WEOAE TEor A, 5 e g A/
$r AfSFTar 1 79T +r FosEs Far smow
@ 0T ash

[Question ID = 330][Question Description = Q15_AEN_PC_NAIRJUNE23]

1. (1) [Option ID = 1317]
2. (2) [Option ID = 1318]



3. (3) [Option ID = 1319]
4. (4) [Option ID = 1320]

Correct Answer :-
® (4) [Option ID = 1320]

How much Transport Allowance is paid to a Railway employee with
disabilities?
(1) The normmal rate of Transport Allowance
Double the normal rate of Transport Allowance
(3) Triple the normal rate of Transport Allowance
(4) Fourtimes the normal rate of Transport Allowance

v TaFanT W FHOR 1 fFaar oiEed = @ s e
(1) oftges & T FAT a7 &

@ cftaes = 1 T T F E

(3) uRaEesr &1 1 FARY o¥ F e

(4) uftEes &1 1 FAFT §X § IR AT

[Question ID = 331][Question Description = Q16_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1321]
2. (2) [Option ID = 1322]
3. (3) [Option ID = 1323]
4. (4) [Option ID = 1324]

Correct Answer :-
e (2) [Option ID = 1322]

What are the circumstances in which compassionate appointments may
be made _
(1)  When Railway servants lose their lives in the course of duty
(2) When Rallway employees become cnppled while in service
(3) When an employee’s whereabouts are not known for seven years
and settlement dues are not paid on this account.

@ Al of the above

¥ #la @ wRftyfET § Bed sgeen § aur w Tl $r o
Hodr &
(1) =@ @ 99 A & e 3wl o aar & §
(2) e Y@T FHEAN AAT & SR YA F I §
(3) o Tt wAdl & e & 99 U 9% a1 Fd gedr g
3R 59 g ¥ &7 UM &1 spwraer gl R o
@ T Wi
[Question ID = 332][Question Description = Q17_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1325]
2. (2) [Option ID = 1326]

3. (3) [Option ID = 1327]
4. (4) [Option ID = 1328]

Correct Answer :-
® (4) [Option ID = 1328]



18)
Which Standard Form is used for deemed suspension of a Railway

Servant :
(1) SF-1
@ SF-2
(3) SF-3
(4) SF-4

TF W HaF & T ooEa & P Y #AeE 9o #oS9Aer fEEr
ST
(1) ™%, -1
@GP vHTF -2
(3) TH.TF. -3
(4) TH.UE. -4

[Question ID = 334][Question Description = Q18_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1330]
2. (2) [Option ID = 1332]
3. (3) [Option ID = 1334]
4. (4) [Option ID = 1336]

Correct Answer :-
® (2) [Option ID = 1332]

As per Indian Raillways Code for Engineering Department, which of the
following works is generally carmnied out with non-Railway sources of
funds :
(1) Down payment work

@B) Deposit work
(3) Zonal Coniract
(4) None of the above

R fssh s s aa Faa @
o ST &

(1) =13 9T a&

a® RuRk T

(3) &R e
(4) IUET A F BE AGT

[Question ID = 335][Question Description = Q19_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1338]
2. (2) [Option ID = 1339]
3. (3) [Option ID = 1342]
4. (4) [Option ID = 1344]

Correct Answer :-
® (2) [Option ID = 1339]



20
) As per Indian Railway Finance Code, Plan Head 3200 denotes_
(1) Passenger or Customer Amenity works
(2) Other Specified works
@ Bridge works
(4) Signal works

s Yor T 6T & IeuR, o g2 3200 FeaT B
(1) IET a1 TEs ghaw &§ s

(2) g Wi a1

@) g=FaFE

(4) TReaa & &4

[Question ID = 338][Question Description = Q20_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1346]
2. (2) [Option ID = 1348]
3. (3) [Option ID = 1350]
4. (4) [Option ID = 1351]

Correct Answer :-
e (3) [Option ID = 1350]

“Technical Sanction’ is a sanciion of the competent authority in case of
which type of estimate:

i 1) Absiract estimate

Detailed estimate
(3) Revised estimate
(4) Completion estimate

e YR & TRAT & AWA # a@d Wigha T WEH TSR

& Wl @
(1) tsrewe TedAe

@ e T
(3) wIfa T ddT
(4) THATGT TEAT

[Question ID = 340][Question Description = Q21_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1354]
2. (2) [Option ID = 1356]
3. (3) [Option ID = 1358]
4. (4) [Option ID = 1360]

Correct Answer :-
e (2) [Option ID = 1356]



22
) The Railway Budget was merged with the General Budget based on the

recommendations of the committee headed by:
@ ShriBibek Debroy

(2) Shr Kishore Desai

(3) Shri Rakesh Mohan

{(4) None of the above

form &1 sterar arelr @Ay &1 Rl & 3R w @ a9 &t
A s=c # faww ey

@ » faw g

(2) = R s

(3) = wHy Aga

(4) ITFT §F @ FE 7@

[Question ID = 341][Question Description = Q22_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1361]
2. (2) [Option ID = 1364]
3. (3) [Option ID = 1366]
4. (4) [Option ID = 1368]

Correct Answer :-
e (1) [Option ID = 1361]

What is NOT correct about ‘Charged Expenditure’ :
@® |tis Voted by Parliament
(2) The salary, allowances and pension are charged expenditure
(3) [Itis also known as 'non-votable' expenditures
(4) The expenditure is "charged" on the Consolidated Fund of India

‘TMes TFEUlesaT & a1 H F4T Hal a7 & ¢

@M =z TuT H Ade ¥ garn wia fFar srar @

(2) @9 39 AT T wIeE TErUfesAT &

(3) =H -Ade 99 99 & 9 #H 9 Sem orar §

(4) ‘Te TS U F  FAUAIESES $F A 900 g 4T §

[Question ID = 344][Question Description = Q23_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1370]
2. (2) [Option ID = 1372]
3. (3) [Option ID = 1374]
4. (4) [Option ID = 1376]

Correct Answer :-
e (1) [Option ID = 1370]



24) The control over expenditure on Indian Railways is exercised through:

(1) Preparation in advance of estimates of the expenditure
(2) Allotment of funds through budget grants based on estimates
(3) Continuous and concurrent review of the expenditure

@ Al of above

AR WA & g9 W e & e s meant & g
T §

(1) =9 & A $ AR dard

(2) gHEN & IMUR 9T Toic IeEEt & AAR § @S & andes
(3) =aw & Wag 3T wHEad gHer

@) s FE

[Question ID = 346][Question Description = Q24_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1378]
2. (2) [Option ID = 1380]
3. (3) [Option ID = 1382]
4. (4) [Option ID = 1383]

Correct Answer :-
® (4) [Option ID = 1383]

In exercise of their financial powers, the sanctioning authorities must

follow the principles:

(1) The expenditure should not be maore than required

(2) Every employee should exercise the same vigilance as a person of

ordinary prudence would exercise for his own money

(3) No authority should sanction expenditure for its own advantage
@ Alofthese

el faelr fdaat &1 v & ge Aol & A AR &
frfai@a eyl &1 9ad & TR

(1) =ag FEgsa § 0% ad = Tk

(2) wAF FHIAA! F a4 & TaedT Hda Fifer Fad aEeg
fRFF AR T Faa FReFT §

(3) T ot MAsd & 3 og F AT @q # Aqh a8 &R
o

@ 2 wh

[Question ID = 347][Question Description = Q25_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1385]
2. (2) [Option ID = 1388]
3. (3) [Option ID = 1390]
4. (4) [Option ID = 1392]

Correct Answer :-
e (4) [Option ID = 1392]



26) A statement of the estimated receipis and expenditure of the

Government for a financial year is called:
@» Annual Budget

(2) Expenditure Statement

(3) Fiscal Statement

(4) Balance Shest

wF e af & v R f1 sgafee oicagl 3R @9 & et

FI FgT T &
@ tF s
(2) =g fEERoT
(3) U= fEater
(4) T ofic

[Question ID = 349][Question Description = Q26_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1393]
2. (2) [Option ID = 1395]
3. (3) [Option ID = 1397]
4. (4) [Option ID = 1399]

Correct Answer :-
e (1) [Option ID = 1393]

PVC in a Contract Agreement stands for:
(1) Price Vitiation Clause
@ Price Variation Clause
(3) Price Visibility Clause
(4) Price Viability Clause

UF HeFat gHFANT #H drAE e oo &
(1) HFT 3oa9d Ao

@) FT TiEaa o

(3) HFT TAIAT Hel=oe

(4) WFT TATEIAAT T

[Question ID = 352][Question Description = Q27_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1402]
2. (2) [Option ID = 1404]
3. (3) [Option ID = 1406]
4. (4) [Option ID = 1408]

Correct Answer :-
® (2) [Option ID = 1404]



28
) Which of the statement is correct in relation to GFR:

(1) GFR stands for General Financial Rules

(2) 'Vote on Account' is an interim permission te spend meney when
an appropriation bill is taking time to pass through Parliament

(3) Every authority who can impose a fine, shall ensure that it is
realized and deposited with the government

@) All of the above

SIL.UG. AT, & Hae H Hid AT FId Hel &

(1) SHUFE.HAT. T AdeE § AT oo T

(2) ‘A A RS U W F A vF HARA AT o
e Rdus + 99 @ oRa @9 H 9HT 091 W E

(3) T Ar MftTd S SHAT T WFHT §, 9 Hieiredd HOM &
TH a9 TFar o T YR & urE oA fear sme
@ SUUTa Tl

[Question ID = 353][Question Description = Q28_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1409]
2. (2) [Option ID = 1411]
3. (3) [Option ID = 1413]
4. (4) [Option ID = 1416]

Correct Answer :-
® (4) [Option ID = 1416]

What is CORRECT about GST ?
(1) Is full form is "Goods and Services Tax'
(2) Itis an indirect tax which has replaced many indirect taxes in India
(3) The Goods and Service Tax Act was passed in the Parliament on
29th March 2017

@ Allofthe above

Sead. & e # |h w4 &

(1) =W Qof ¥ 7 vz §idw dow &

(2) T vF FAUHE T ¢ Oua "RT § FE JUGT F F WA
o &

(3) IEw wvz widdw dww AfAfeEw 29 AN 2017 & w6g #
it R =T ar

@ s it

[Question ID = 356][Question Description = Q29_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1418]
2. (2) [Option ID = 1420]
3. (3) [Option ID = 1422]
4. (4) [Option ID = 1424]

Correct Answer :-
® (4) [Option ID = 1424]



30) Irespective of the purpose for which the land is taken up permanently,

the acquisition cost of land is booked to;

(1) DF
(2) DRF
@ Capital

(4) Revenue

TR 5w 3qng & v g st @ & v sfafRa e o 8@,
T i avra F 3w # gF e o &

(1) Fhrow.

(2) AT TE.

@® Fiea

(4) TeEE

[Question ID = 358][Question Description = Q30_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1426]
2. (2) [Option ID = 1428]
3. (3) [Option ID = 1430]
4. (4) [Option ID = 1432]

Correct Answer :-
e (3) [Option ID = 1430]

The dividend payable by Indian Railways afier the merger of Railway
Budget with General Budget is:

(1) 2% of capital at charge of IR

(2) 1% of capital at charge of IR

(3) A notional amount of 100 crores every year
@ It is wiped off

A &9 & WY (A w9 & @9 & 915 HRdE | @ &
MI?:
(1} IMEIR. F FRea ¥ Gwer 71 2%
(2) IWEIN. & FRed o g F1 1%
(3) &Y WA 100FE T TF Arere [T
) =¥ AT FX fgur v #
[Question ID = 359][Question Description = Q31_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1434]
2. (2) [Option ID = 1435]

3. (3) [Option ID = 1438]
4. (4) [Option ID = 1439]

Correct Answer :-
® (4) [Option ID = 1439]



32)
Project Monitoring Group (PMG) has now been merged with Department
for Promotion of Industry and Internal Trade (DPIIT) since;

@ February 2019
(2) February 2020
(3) February 2021
(4) February 2022

aRasen R wag (frewsh) @1 s segher Ak el s
wate fsmer (Rfaganddr) # g ¥ Reg & G

@) = 2019
(2) wwadr 2020
(3) wadr 2021
(4) wEdr 2022

[Question ID = 362][Question Description = Q32_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1442]
2. (2) [Option ID = 1444]
3. (3) [Option ID = 1446]
4. (4) [Option ID = 1448]

Correct Answer :-
e (1) [Option ID = 1442]

Government e-Marketplace (GeM) is the Public Procurement Porial
What is CORRECT about GeM?
(1) It provides transparency and ease of buying
(2) There is Integrated Payment System
(3) It enables direct purchase for amounts upto INR 25000
@ Allofthese

TaRde SATHTRH (3H) UF Ufeas WRAC IRa g IR F Ay A
w1 WEY 82

(1) 9% yReRar 3R Thed & uE vae Fa §

(2) FEH THIFA I FoIC ¢

(3) 9Ig 25000 ¥9 d% &1 U F Fw defh @l ST deHEm A ¢
@ T wh

[Question ID = 363][Question Description = Q33_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1449]
2. (2) [Option ID = 1452]
3. (3) [Option ID = 1454]
4. (4) [Option ID = 1456]

Correct Answer :-
® (4) [Option ID = 1456]



34
) The control of Parliament over Railway fimance and policy is exercised

through:
(1) Periodical examination of its working by Railway Convention
Commitiee
(2) Examination of estimates by Estimaies Committee
(3) Members of Parliament serving on National Railway Users
Consultative Council

@ Allofthese

@ fam s e @ d@wg &1 g R qamr iR g
(1) (@ Fedsd FAC q@NT $HS FAFIS B FAT-FAT W AT
(2) wEwad ARG G@RT WEsadl S ST

(3) TSET (@S 3UNTEAT qUEeE 9iug & d9na §WE "oy
& = wh

[Question ID = 366][Question Description = Q34_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1458]
2. (2) [Option ID = 1460]
3. (3) [Option ID = 1462]
4. (4) [Option ID = 1464]

Correct Answer :-
® (4) [Option ID = 1464]

What is NOT part of Social Service Obligations borne by Railways ?
@®» Pension paid to its retired employees

(2) Passenger and other coaching services rendered below the cost

of operation

(3) Running of trains on uneconomic branch lines

(4) Carriage of essential commaodities at below the cost of operation

THH H FieT G W SANT 98T 6T S arel HIATTSrE a1 gIfdeat
*1 fevmr e ¥ 2

@ U FAEE FAERET F S F spEn

(2) uRETe P ¥ FA AT W a6t 3T #eg FiEEr A9
(3) HATHFH F ASAT UT AT &1 Tl

(4) TG AT H FH FAT W A@TF aFAT #T gars

[Question ID = 368][Question Description = Q35_AEN_PC_NAIRJUNE23]
1. (1) [Option ID = 1466]
2. (2) [Option ID = 1468]
3. (3) [Option ID = 1470]
4. (4) [Option ID = 1472]

Correct Answer :-
e (1) [Option ID = 1466]





